V Axial Piston Pump

YEOSHE

VRO BB SHER
V Series Axial Piston Pumps

IM

C  #@:175bar

BER3:280bar

RUSEEREA Nomenclature

Vv

1.VEFER, LBSSIRBEREBEINE, ERERBRESEEA,
B, EEBNER, RESEIERS M.
2 BZEENLARS, BEEARMK, BBEE. NBE, BHE

LIBEFERS .

3INEFEB/E/N, BRIEBR LA, TRER/NEHE.
4 FERIE TR, K, RE. BEREHKS.

1.Combining special internal designs and strict engineering disciplines has
reduced noise level to new lows in whole pressure zones.

2.Depending on variety of application needs multiple optional unique control
methods are available.|t does not only reduce a number of unnecessary
horses,pipes and control valves but also increase efficiency and save

horsepower,and cost.

3.Less capacity reservoirs can be selected and applied because of
performances of low pressure loss and less heat generation.

4 Wide application ranges:it is very suitable for machine tools,plastic injection
molding machines,forging machines,other industrial machines and so on.

A

variable

type

VSRR

displacement

1

R

S

15

1001

| I [
ik I oy e s mEnE MO
Ratings Pressure adjusting Direction of pipe Shaft type
o S EMAE  connections
Control type Shaft rotation |
A |MEHAR AL
clock wise ﬁ
A B,C.0CG.D,DGEEGFFG) L 5 EEEHAER _ l
G,GJGMHLL ] HIHKHO counter clock wise |

S:SAE J498b

l

e
Vaoltage EETs

Threqds code Thru

2nd pump

g HHRAREE IR FPARREW
drive& Desigh number Links type Customers

demand

& Standard

(EMESEE W A Low Prassura

R R Idling Relief

fRECDN . B Standard
AFFLE SAE A 2 bolt

15,18,23,25 38,42 :
Eg.?ﬂ.{cam‘.frw] E:E? Eﬁﬁﬁ _ #t8IV15, V18 For V15, V18
B i A il axial port “:“':"-‘l ﬁﬁﬁ'l E
ﬁm&iair_ﬂﬁ??d:lfﬁ Nuna:Singln pump
T T B | c_:l::i'me-:huns tar C | SAE AA.D®50_Bmm
Code f’pi;'ng anpen A_| AC100V(50/60Hz) E g:g g-i?gfgmm
H7KG - -
rﬁfﬁ? Standard pressure:7kg | ﬁJE? gyfndric.kay g iE;;gEE:gEH 2] F EAE_C:,E:‘I 27mm
B A s #7E W(SAE. J498D) D | AG:220V(60Hz) v ﬂ“““ﬁﬁﬁ”‘m
Middle pressure:14kg E | DC12v 2 M::::E;d} 1,.ﬂ_nmmmm
C m;-gi;rﬁsure-.zix_g "GEDEE ,ﬁi 5552‘;:1’“”” $EEE Pitch E L LCaty L | Metric,@125mm
“SHHHLLA WA 5 Vi5 |13 16/32 DP
This spring code is useful for HL type a1 vig g 70 TFTIRC) W FHPipe lype
| Sz LA 40 |BSPP(G) | % EMetric
1:0.8-6.9MpaiB-70kgl/cm’) <] va2a |13 16/32 DP 50 INPT Z8inch
2:1.5-13.7Mpa(15-140kglicm’) -% 3‘32 Emi 60 |SAE(O-Ring)| % 8linch_
3:2.0~20.6Mpa(20~210kgficm®) V42 | | engthening| 70 IML] 2 EMetric
4:2.0~24.5Mpa(20~250kglicm’) V50 |14 12/24 DP
. . s1_ | v7o [i7
R 18 3R Specifications
LEEREL nt & mABWRzHHR I8 o i AE B rpm) i
B3 Model Max.Pressure Displacement Unloading Conditions Vmin{GPM) Pressure Adj.Range Input Speed Range | Weight
kgficm®(psi) cc/reviin’/rav) 1500rpm 1800rpm kgf/cm®(psi) £ {Emin | I Mmax kg(ib)
V158A 250(3500) 15(0.90) 22.5(5.78) 27.0(7.05) 13(28.6)
V1BA 250(3500) 17.8(1.09) 26.7(7.05) 32.0(8.45) 13(28.6)
V23A 250(3500) 23.0(1.40) 35.4(9.11) 41.4(10.94) 25(48_4)
VZ25A 210(3000) 25.0(1.52) 37.5(9.66) 45.0(11.60) 22(48.4)
V3BA 250(3500) 37.8(2.31) 56.7(14.08) 68.0(17.96) 26(57.2)
V424 210(3000) 42.0(2.56) 63.0(16.23) 76.0(19.58) 1:8~70(115~100) 26(57.2)
V50A 210(3000) 51.5(3.14) 77.2(20.37) 92.7(4.49) 2:15~140(210~2000) | 500 | 1800 55(121)
V70A 210(3000) 69.7(4.25) 104.5(27.60) | 125.4(33.13) | °-20~210(280~3000) 56(123.2)
Vi5A-V15A 550(3500) 15/15 55 5/22 5 27/27 4:20~250(260~3500) 28.5(62.7)
WV23A-\V23A 250(3500) 23.0/23.0 35.4/35.4 41.4/41 .4 46.5(102.3)
V15A-V3BA 250(3500) 15/37.8 22.5/34.5 27/68 41.5(81.3)
YV3IBA-V3IBA 250(3500) 37.8/37.8 56.7/56.7 68/68 54.5(119.38)
V15A-VTOA 210(3000) 15/69.7 22.5/104.5 271125.4 71.5(157.3)
V3BA-VTOA 210(3000) 37.8/69.7 56.7/104.5 68/125.4 84.5(185.9)




VEIEER

i2#l 7530 Control Type

ZControl Type

R FEEJIS Symbols

14 BE #h £ Characteristics

4 Feature

ARV .
T #{E 1

Pressure Compensator
Control

0 —»

1.EGR B BIrAERER, RRBEEETH, BAH
®¥FEE.

2MERRERE N FEIEE.

1.When system pressure increase and reach preset
pressure the flow decrease automatically and
pressure maintain without changing.

P— 2.Power and pressure can be adjusted manually.
1LiEHOHEBEX, KBRXEIE/N, HBEEL,
BHEI: . BOhEEEER.
FEEDRE R SAMEMA, T 2fEMMELH. THARFEHER, lHLEiE. &
AEATEE S, o B, BAERAR. AREERME.
Miilli-stade Elow & Sinale 1.Flow can be a_djus_te_d from O to maximum and pressure
uli-siag g can been maintaining at praset prassure.
stage Priessuru_e Control 2.Absorbing impact and vibration which are produced
Type(With Cylinder) by up and down motions of actuators. It is suitable for
p—r lifting equipment etc.
1.5‘;’]&5:’:%!. R AR mEERIEE, TR/ hES
OH E.ﬁgﬁjﬂé}ﬂﬁi, EiEWALN “PH" IRERN, ZERHiRESH
] *QL"
CH5 . | \ 385 “PH, PL" Biftlk “QH, OL" W5 BIE HMH.
BEWEEhH, W :‘.‘}m - - 4 BARZITER, MEBTREZAH, EER, S50,
'ﬁ!{ﬁ E.:»t} I 1.Low consumption electric r_nclmr can be selected to save
2 [ energy because of the functions of high flow at low pressure
2 Stage Pressure & I and low flow at high pressure.
Flow Control T},FDE! I 2. When pressure increase and reach preset prassura"PH" flow
PL PH is reduced to"QL"
P—» 3.Pressure"PH™PL" and Flow"QH""QL "can be adjusted optionally.
4.1t is applied to actuators requiring long unloaded or short
loaded strokes.Speedy and horsepower efficient.
I__T _______ | "
T | QH 1\.EREFRWMEES, WikE(EEX) "CR” .
CGEst ‘T | | 4 2 FTMESMEIE S, i B R O,
BEEBEHEEH | i'““::"“ I {}GL B 3.AIBRL SR EHIRE R, TR e sl
R R(E L) ' Ii—--"l D ! 1.The same function of*C"control type.
! = I <« |-» | 2.The pressure and the range can be adjusted remotely
2 stage remote Pressure E | i by the integrated remote pressure control valve.
& Flow Control Type | L WTN i ' 3.Proportional Electro-hydraulic pressure control can
. i | PL PH be applied with YEOSHE proportional valve.
1 __41 1 P —
1. ABISC R o7 4 {8 #= B 6 hn 0 B8 % RE -
R e i T 2 18 A D IR O S R O 1R
DRI s F ! N | ARG, BBRMEBIES, BEMRS AR
{1 B SED B o i = e | | Q|}soLorr  soLon SAEKE,
Solenoid Controlled - i 1.Same as Type A and unloading function added.
Pressure Compensating| [ — . 2.1tis ap;plied to systems requiring long term unloading
i i T ! operation.
E}éﬂ?ﬂglth MiTonuing @—QF:f i 3.When solenoid is turned off,pump operation under
= . P —e unloading condition maintains low noise level and
oil heat generation.
o 1.EEFEMEERS, mREaE) "DR" .
DGHEI5t . | e T , N | 2 THEEE R, i fE SRR,
ﬁﬁfﬂﬂﬂﬁﬁmﬁ{! Em& Eu-rr Q II SOL OFF SOL ON ﬂﬂﬂﬁ'iﬂl#ttﬁlﬂﬁﬁﬁﬂ. A% RN T4 b ) R
i) el % -I 1.The same function of*C"control type.

: iy i ! < | | 2.The pressure and the range can be adjusted remotely
Solenoid Controlled A I bV, i by the integrated remote pressure control valve.
F"ESEUT? Gumpensqatmg ‘----@;?:: | 3.Proportional Electro-hydraulic pressure control can
Type With Unloading & | | ' be applied with YEOSHE proportional valve.
Remote Device - B

34




V Axial Piston Pump

YEOSHE

i2#l 7530 Control Type

ZControl Type

58 JIS Symbols

14 8E #h £ Characteristics

HFeature

1B EEE, =6 EmESE R RER .
T = N AR ENREEEEET, EMBRITERNRER.
RISt . Q 3.PLEPHEfTER—FERSE.
FINTEEHhEEES SOLOFF | SOLON 1-Fnlasr+a1tl higl"l_El.r"ld_F'Dw p;esslure can be c?ntrlolied by
Dual Pressure Control switching directions of sclenoid control valves.
2.This type is applied to actuators requiring 2 stage
pressures with single speed.
T8 = 3.0ne of"PL"and"PH"can be optionally be high pressure.
Fp—
e T \FAREMRENHBRER " B,
EGHIZ . Ly i ! & N | 2B RS, o kRS A .
: D = : SOLOFF| SOLON S.AIELE i FLE BIE A RE, iEAEE LG D32 .
Eﬁiﬁﬂ’ﬁﬁﬁi‘ﬁﬂﬁm :ﬁlﬂ | 1.The same function of"E"control type.

# N SO P < |—» | 2.The pressure and the range can be adjusted remotely
Dual & Remote '-@ [ by the integrated remote pressure control valve.
Pressure Control ' P \ 3.Proportional Electro-hydraulic pressure control can

| i_l F; PH be applied with YEOSHE proportional valve.
i i 1. 4R R i o) P B G i R S N A ThiEE . B
FHIt . T 28AHPL, PHERRBQL, QHRIF M E.
=y .Eﬁ s i aL SRl 3.8 R Rt T AR WY R 1R R i AS  BEFRRR (RS
miEE BET, Q 1.Actuators can be shifted slowly(high pressure low flow)
EiREEE and quickly(low pressure high flow)by switching directions
2 flow-2 pressure p.c. by of solenoid control valve.When solenoid valve turns on,
solenoid operated valve o pressure increase to"PH",and flow decrease to"QL".
3" S 2. Pressure"PL","PH"and flow'QL" "OH"can be adjusted optionally.
3.This type is applied to actuator requiring operations of
shift speed from high to low or low to high.
g | ERERRMRES, MR W,
FGRIS . B 2 ATAEIIMEIE ) , e iE 2 R IE ) 4o
BEEIEHERWERN, |1~ aL SOLON IAAL & AR, i AR b B MR S
9 2 it i 1 I Q 1.The same function of'F"control type.
2 flow-2 pressure p.c. h.},r | i_ -, \-ﬁ- E.TI'IE_FII'ESSLII‘E and the range can be adjusted remntely b}’
solenoid ﬂperated & E 3 FH the in [E?I‘-Eit&d remote I:III'EEEI'LIE control valve,
remote value : B 3.Proportional Electro—hydraulic pressure control can be
| applied with YEOSHE proportional valve.
GHRIt . T N 1.ﬁﬁﬁﬁgéfé ﬂﬁij% - —
b s Q 2. 7] il HE 4= 21, kB i 12 ) A 2 I O o ]
EEE AR 2 1.The same function of*A"control type.
emote pressure *— |—™ | 2.Pressure can be adjusted remotely by the
compensator control integrated remote pressure control valve.
pP—
T i T 1.8aGMiE I8 E /T m B IhEE
i{%lf‘éﬂ]ﬁjﬂﬁﬁ Q : i 2.8k mggéﬂﬂmgﬁﬁﬂﬂmﬁﬂﬁ_}:. T2 B R 4 EE A
T [ i =H, HEiERRG.
Proportional Pressure : i 1.Same as Tl.rlpe *G M". ar.m:l proportional ualule added.
with interface : . 2.The proportional valve is installed on the NG& interface
! | to reach Proportional Electro-hydraulic control to save
: i energy.
pP—

35




VEitEER

i2#l 7530 Control Type

ZControl Type

R FFEEJIS Symbols

14 8E #h £ Characteristics

HFeature

GMEY K .

J& =B

(A & T8 RS )

Remote Interface

(Not include pilot valve)

O—»

___________,
- 2 £ i o]

{

1.GMEHMEEGME EAE—ENGEM T E. ATHER
EEEEESm, AMEEMRAEED . 7B E 6 #
BERERERN.

2EREERERE, RHENEREE.

SAHRAFHSNERIEFESFEG.

1.GM control with a NG6 interface, supply an installation
for pilot valve to prove the operating pressure. The
pressure setting can be set directly from the control
panel of the machine.

2.The remote pressure compensator responds faster
and offers more stable pressure.

3.The adjustment can also be manual or proportional
pressure control.

HLE =, -

a # B A

Load Sensing Compen-
sator

o—>

p—»>

I RARESMNELE—2EH, EfMRTEHE. R
Gl RE A, REFE IR RiR A RERINAE .

2EEERNGWEN—ErF, MiEKImRMESeE, hRE
BENEERMERETHMEERE, REIRHES
AE T8 Th E .

1.The pump outlet can be controlled by the setting
pressure value of flow control valve.An ideal energy
conservation system can be configurated by combining
the proportional directional control.

2.When setting pressure value flow is changed
depending on throttle valve. The sensing flow
feedback function can reach to low oil heat generation
and saving energy.

HJBI =, .

W 2 RE - B 5 R

1= il FE

Load Sensing &
Proportronal Elector-
hydaulic Pilot Relief
Valve

O —»

IR s k- 4

Y

“«—|—»

p—»
ek )

Electricity

1_%§HLEﬂEFﬁﬁE%{ﬁz%ﬁﬁ'lh FE 180 EE 5 B h

2EMEEILEAENE, MAAEREFES, 35
BEE., &/ ANIhEE

1.Same as Type"HL"and proportional pressure
function added.

2.Supplied with proportional electro-hydraulic pilot
ralief valve can reach to hnrsa—sauing and
energy-saving.

HKH 3 .

B R L B

bk &) i &

Proportional
Electro-hydrauic Load
Sensing Type

— L

| R

THKEXNEREEFRRIEGI MM —M, &Rk HE
7. EefRE. BRANES, REBANK XNE
HAGKAMEEMNEHRAR, &AL ERNERERE.
ESRBHERGHRRECE, EHRI)EHREN T
TEUE, EREENASIREREN, SERMK
ERADELY, AMAERKMBIRE, MEHRER
AEr, SCAIRERRELEH, FETSEENRRERE.

e ERE—EERAERFE+PQMAESMMRER
tb e, #97TELET & B S130%-50%HE M. i 78 72 R i
FRFATED, dEXBEEROBERF.

1.HK type supplies the system pressure and flow
depending on the proportional pressure and flow,
voltage,and load value to save the energy.When
in waiting circle,the outlet displacement and horse
power loss are close to zero.When pressure reaches
to preset value,theflow decrease to the min.,and the
pressure is constant to reach low oil heat generation
and energy loss.

2.HK type can save 30%~50% energy compare to vane
pump and gear pump+PQ valve.ltis an energy-saving
and environmental design.

HQ&E L .

B EEE AR E
1= il

Load-sensing
Proportional Flow control

J2

O—»

p—>

1LIERHLE L F AT R M 2 BtEor, Bt G EiEsl.

2Rtk pIREMER, BEEWALIRTREHE. &
BEEHEHREMAERE.

1.Same as Type “HL” and proportional flow function
added.

2.The proportional flow control allows the adjustment
of the pumps output flow with an electrical input signal.
Supplied and adjusted the displacement by the
electronic control module.

36




V Axial Piston Pump

YEOSHE

ATESEE .

o
Wi
e
k| Y

%8%No.| f#EDescriptionim #E8No. | S#&Descriptionim #5No. | sA&Descriptionim
1 7 iR & Bolt 23 = 4 EREnd cover seal 45 OB E|O-ring
2 FLEProt plug 24 3% i lPump body 46 EMWFlange
3 38 B MPressure compensator 25 28 B EHiDrain plug 47 B 7~ iR & Bolt
4 ORIRO-ring 26 X il O EEFilling screw 48 HFE FLFEPIug
5 | BAME R & B iRGasket 27 O WO-ring 49 i 8 /s Washer cylinder block
G BiTEIELock nut 28 OB F|O-ring 50 #h Ak Bearing of pump cover
7 OBIIRO-ring 29 Bl fA R (»Swash shaft 51 ¥ FBearing of pump cover
8 aE & i #@ »Control compensator shaft 30 M AR LBolt 52 iF |/ Valve plate
9 58 B B R TAEASpring washer 31 M7~ A &Bolt 53 I Snap ring
10 | 8% 3§ & Control spring 32 Bl iR (»Swash shaft 54 HFLEE F T FWasher cylinder block
11 | 548 38 it # BEO-ring washer 33 ORI EO-ring 55 AL FL38 #Retainer spring
12 | OBIE|O-ring 34 i EShaft seal 56 A FLEE T 8 BEWasher cylinder block
13 | A M EE 8L ock nut 35 M#nEREM snap ring 57 HFLEECylinder block
14 | #EA8E 4 Screw 36 B FLZEPIlug 58 HAFLEERoller
15 | idmi@ L Slipper plate 37 A7 mEEBolt 59 % @ #Cylinder block holder
16 | H{#Swash 38 i=MiFlange 60 AFLESlipper retainer
17 | Fi##.Shaft 39 OFRHO-ring 61 i ZEPistons
18 | BSAE#Shaft Key 40 R A Bolt 52 iFEAPistons
19 ¥ & Bearing of shaft 41 mE#ERoller 63 it &= 22 &iFlow screw
20 | MiA#&Bearing of shaft 42 H Z # £ Roller 64 O&F|O-ring
21 | 4B EKTE EEServo spring washer 43 FiEmEnd cover 65 i & Bl E @ Sleeve piston
22 | MR EServo spring 44 mE st Roller 66 i & i& Bh#@Servo piston sleeve

37




VEitEER

V15, VI8R5l

B _fsht e
=E. 2042 V15

§85X: 1800rpm s
{'EFRB: 401/min E :
EAEEIEE: 70kgf/cmi(1000psi) ?DkgfcmE
EEM D .....35kgf/cm’(500psi) — — - 35kg/cm 70 )
30 :
= 65| % : =,
20 I D/’ '.
L~ _—]---- ) I f— B I " S ~, | :
S ] \
W /"‘ Ho 0/ p
EE'I'D — g 60 BCHE B PC owlt off pafiod
' r‘l" T
0
55
3 6 g 12 15 18 21 24 0 34 6.9 10.3 137 17.2 20.6 245
(35) (70) (125) (140) (175) (210) (250)
—» B MPa(kgfiem™)
* ERIHE. 1,800r/min
* {EF#: ISOVG32
*iB &: 50°C
£ %
E =
=
— A hE & s 9 R T
100 .
i aﬂ #E ol effipiency T T
80 f’gﬂiuqm R a0
70 /f = E
60| : 30 12 # 1.5 f/{
= / .Lﬂlr:utput‘fuw i = -
i 50 J P 25110 ﬁ o
Al | =
B 40 2 208 0 1.0 - -
* :m[ ﬁﬁﬁgf . A ¥, 2[5 a8tz 3 4type
> 16
20 ?'Ff# 10 4 0.5
= = i " P e
10 f ThEhpuLpgeT 81 52 _:-;é'm-!ﬁ
o L REARITTR=E
0 3.4 69 103 137 172 206 °° 0 00 34 69 103 137 172 206
(35) (70} (105) (140) (175) (210) (38) (70) (105) (140) {(175) (210)
—» B h MPa(kgf/em®) —» 1 MPa(kgf/cm®)
Ly E ST HiE R
15
2.0
T 25082 3Typa
510 = £ 1s :JPEH
T Bl ®  [1:=={Type|| PCpariod (TPCs PCHS
g T-E"-E,uﬂf“’i g i 1 PC pefiod | |PC period
& /%w =40
A s o i per 4 Pom|)
/ﬁfﬁwﬂﬂ 0.5 |
#f.—-ﬂﬂd s - ‘J o
e e 5.6)/min |
0
0 3.4 6.9 10.3 13.7 17.2 20.6 % 3.4 69 103 137 17.2 20.6
{35} (70) (105) (140} (175) (210) (35) (70) (105) (140) (175) (210)
—>» B MPaikgficm’) —» & MPaikgl/cm™)

38




V Axial Piston Pump

YEOSHE

V15A,V18A Pressure Compensator
BRERNMBEER

C)

1

Qutlet O @2

165

INC.Fr B
Bhme
Eﬁnlwﬁﬁuslment i 196.8 4y 44 5 Pressure Adjustment
& i H 25 [14.76:5 “**x32 i 0
Drain Port:G 3/8" 18] 5 44 Filling Port
DEC. & /h 6|/ =5 = A= 2-M12xP1.75
Wi uw
A | e 5 —
@I @ @ = /I E g < E f
/"T\ m E -; E P . mll
- | ) :L 1t b g‘
8 ® — ! ® ¢ K!
4-MBx20 [ = 1\
/ 13 |
©25 ] 35.11‘” ._=.-=_. e \
- 173 - Outlet $iil 0 ©25 :E; i Inlet il O ©25
i L
V15A,V18A Pressure Compensator(SAE A 2 bolt)
FRERDWIRZHI(SAE A MILE, FRBIFEAEIEISINA)
IE — A O
; BEOHEE
ﬁ;ﬂrﬁﬁugtmgnl e 196.8 —td 32 INC.FH# Pressure Adjustment
it 1 A8 [14.76:8 %5532 il O
O Drain Port:G 3/8 i i 4 Filrling Hisii
Tt /45
i : gl o
A EF 55 of =
@ @ @ g Ty ai f e8| e E ';? u:
Tehly i AN 3 . 3
_‘ 1 SRR @ == : :
5 5 . 3 | EI
! B i
4-MBx20 /| \
025 o 35-114? -9 ‘ 105.6 \
173 131 -l Inlet il 0O @25
-|

V15B,V18B Multi-stage Flow&Single-stage Pressure
Compensator Control(With Cylinder)
HMERERE, FNEHRIL, RETEERICEHE

B

()

INC.HE

Pressure Adjustment

14,7620 "°x32

- 374
i i O g| w
RC1/4 Drain Port:G 3/8* ,-_E s
w| w
Q) -
v ] —
— [a]
= ;\‘@ o| ©
7
'EI'. W
ET % 1 =
1 r"ﬂ} o | 0
o5 - 4 ! 8
—_r &
4-MBx20
35.1 B I P
Y 347 s
- 173 =

39

QOutlet Him O mEa/

iFidm O
Filling Part

2-M12xP1.75
i

L

Inlet ik O @25




VEiEER

V15C,V18C 2-stage Pressure&Flow Control Type
B R 70, it S 12 il (B B 3N)

ik R 2-M12xP1.75 |NC.3E
O Low Flow Adjustment 270 4.5 Fim O 2= WP R 0 45 FC RS
DEC. i/ ﬁﬂiﬂ:fﬂ E.Ad' tment iﬂﬂriaﬂ?nDPurl'E 3/8" e = PIESSUNE AHLEMET
- | oW usimen - B .
- J ? [14.7618 “25xaz \ ﬁ?%ﬁﬁﬂﬁppﬁ
15-_ | 14./76, I s gh Fressura Adjustment
P o) ‘:"_ E ﬂ;_
r | ol - :
g ] 6| e N 5
EI _[',__ 5 1 b &
— el € L 3 E
P25 _‘_.-"" I T o I'-.ﬂ'
\
_ /]
4-MBx20 35 1 13
& 147 =
185 Outlet HiBO @2 — 125 — Inlet #iH 0O ©25
V15CG,V18CG 2-stage Pressure&Flow Control Type with Remote RO
MR D, it SR 6+E2 128 B (R 3010 8) ure

s AR
Low Flow Adjustment

pobid & fd
High Flow Adjustmeant

()

DEC.# /0

270

EEEEOEERD
Remote Pressure Port:PT1/4

WO
Drain Port:G 3/8"

44.5

el {—

\

Warning:

iEim 0O
Filling Part

Low Pressure Al:ljyslrnent

e I AR AR AR PCRY
don'tadjust ik Pressure Adjustment

§

-8
| ! o 14,7613 %5x33 : =
- 18 ®
g_\ & - [ a ﬁ}vn -
u @ i...ﬁ o3| o5 76
\ R
o R — o = -
o) | N M. / el e &
@ G @ 2 :1_ —-E_ ? |_'—' l J @
Ly o ‘Q L oy -
SR R == =
© © Y i . ’_I: gj
! 4—!‘-.'13129—/' ! | !
] 35.1 12 \
= /1 [ 147 &
- 185 - Outlet Him O @2 - ]g; - Inlet iR O ©25
V15D,V18D Solenoid Controlled Pressure Compensating
Type With Unloading Device 2-M12xP1.75
RS, R HEEE £ 4 A4 FOR
o Low Pressure Adjustment
O Flow Adjustment 276 - iFih O EEEmREREPCH
DEC.3 /s E:?IEE DF" T Filling Port High Pressure Adjustment
Bt R rain Fert |
Solenoid control valves 48_|44.5 [04.76:3 ™5x32
I
O = 6 | /=] = 4—D11 EEE.I—._\Q ING. .F+ B
O M1l b :
l Frem, A W -
| ) e - Jan) e
I E ] 33 U R
J@ '\_@ E Q,I — _.L W - :
= ~TH® % | | 1
a _é i :;%..- /j-; @ F— ' i F—Jr El
@ @ : ®25 1 I —Lr 1 ]
4-MBx20— flll )
e AT = / \
= 185 - Qutlet MmO @25/ | M :2; Inlet # il O ©25

40




V Axial Piston Pump

YEOSHE

V15DG,V18DG Solenoid Controlled Pressure Compensating
Type With Unloading Device & Remote

E BB R, B miIS =26

= B SR FCHE
Low Pressure Adjustment

e 1 40 22 276 o SMEEREAEERED / -
O Flow Adjustment " A0 Remote Pressure Port:PT1/4 Filling Port ﬁ;’%gﬁﬁﬁﬁ@mm
DEC i/ Bt Bk Y rain Port; , \ | -.-//
Solenoid control valves b
NSO [° S, e B
\ O & « = i don't adjust
os| =g 4-011
s ol w| T 2-M12xP1|75
'l.'.|'.‘; 1'— — - ]
\Ed ' 5| & & 5
- e L 1 J':I - il
o T ™ < = 2 '
L T [ ] ="
® ®)] a4 * o %
Y l."tl'"." —h— g - ]
- ) o2s — VLT P e 3
© © 4—Max20—/
! ] 351 .13
= 147 =
131 - - 185 - Outlet Hili O @2 - 12; Inlet i\ O ©25
V15E,V18E Dual Pressure Control
BISTR BN AR —
(-) 7 1 4 J— _ Low Pressura Adjustment
Flow Adjustment il O
Filling Port iR PCH

DECHN st 4ty s 9

Solenoid control valves

[14.76 10 "25x32

High Pressure Adjustment

©19.05-00z
®©21.15-85
T
)i
= EA
&t ==
b

[ O
—ﬁl INC 3+ I

il
|
2-M12xP1.75
_l d} J - i m i
© © o % o 8 =
{ e ) : —
. o 8 - !
® 5 & ! 2
&
1 1
LE 35.1 J 13
- 191 g s, | £
- 185 - Outlet ik O @25/ = = Inlet il 0 ©25
V15EG,V18EG Dual&Remote Pressure Control
BRERMEBRHAHERE i
,ﬁ.‘iﬂ_ﬁ -if W Fressura Juls En
O Flow Adjustment 276 higEEEAOEERD Filing =on B 5 B S 4R 4 PC I
: im0 Remote Pressure Port:PT1/4 : i
DEC. i/ 8 308 =) HE R R \’- Drain Port:G 3/8" \ / High Pressure Adjustment
solenoid control valves I pepv—
O o [14.761 "25x2 j _ {Wg:ning:}
Ja=i=y \ 2 U.E R 4—D11 = J don't adjust
S o @ N 2_M12xP1/75
] | 2 5 z 1
, o T o e @ .
o i £
o o = e
® © m B! @ !
* e | f}; ﬁ =)
_ - o ! © &
a @ >, o2s — 111 it | |
1© © 4-M8x20
1 ] 35.1 13
= 147 3l \
- 131 s 185 o Outlet Hih O @25 e 1:; Inlet i#f il O ©25

41




V B[O ER

V15F,V18F 2Flow-2 Pressure Control by Solenoid Operated Valve s
!Eﬁﬁﬁﬁ; ﬁﬂﬁi!&ﬁ] Low Pressﬁré

e o) TE A P Adjustment
i 5
Solenoid control valves Wm0 5 0 ﬁﬁﬁiﬁﬁﬂ%ﬁpﬂﬂﬂ
A i Drain Port:G 3/8" Filling Port :Igh Pressura
O Low Flow Adju 276 I",I g 44.5 djustment
3 ilﬁlmﬁ :—4.?5:3.025:{32
DEC.E/M  High Flow Adjustment 48 =

8 ~ 1 Oollck \r
|

210.6

®19.05-8.025
®21.15.-0.18
_f., i
[
33
=
B )
H
=

B0 / =
4 @) I = ﬁ.I Al g : e
D @ A 5 @ (4] [ o DE |
= ©; e o O '-_L| 3 =
o3 S -
i e & o e
d @ o2s— AT - a
| @ @ ! |
i 4-M8x20—— ‘
J 35.1 L 13 \
147 1731
o L[ ) S— _ ST : Outlet #ii O 25/ | ™ 1:5 gl Inlet i i 0 © 25

V15FG,V18FG 2 Flow-2 Pressure Control by Solenoid Operated & Remote Valve
ERERMEBRENH MR RERH 35 FEA T4 44 FC B

La-f\r Pressure
B i BN tEst i L g e il O Adjustiment

Remote Pressure Port:PT1/4 Filling Port 18 7 R R A PCY
o i High Pressure
Low Flow Adjustment AmO 29 — \ / Adjustment
I anckr
: : Drain Port:G 3/8" [14.76:8 "25xa2 {0 S )
DEC.&v High Flow Adjustment ; I L Warning:
D O o 7 o) don't adjust
\ o) =l a 4-o11\ | )
2l & 2-M12xP1.F5
1 I =
= & cH
8| &

-1-||H:l

I_]n
@0
"
L
I

@«
OPAL (O o B B hsa el % =Fi 1
D 1P X
_© e o2s— | /1Tl ' - i X!
© © 4-MBx2g 80
! . 351 13 L—-
- 105.6
- — 131 :
131 . s 185 = Outlet Hil O @25 (he Inlet il O 25
V15G,V18G Remoted Pressure Compensator Control
ShiEEER DEEED
MEEEEﬁﬁmﬁﬂj Hemote Pressure Port:PT1/4
il 50 O
Drain Port:G 3/8" JE ) iR
At Pressure Adjustment
s o ' (BRAN)
DEC.3& Flow Adjustment Warning:don't adjust
O04.7618 "5x32 S0
i gl « A Filling Port
e B ‘ 5-M12xP1.75
ol — s
ol ~ i
—— f."l.lf
® . o 8 : -
© T @] 3 « | S :
[ |
‘ | [ .
@) ® =
|
131 .
- - == 147 i
b 185 | Outlet 3 0 ©25 - 1:; = | \ Inlet @O @25
== ==

42



V Axial Piston Pump YEOSHE

V15GJ,V18GJ Proportional Pressure with interface
=g ag | iyal syl

196. 44.5
~ 0.5 st B e
ik 4 A8 Proportional Solenoid g 30 P L A'EE_'
DEC 1% Flow Adjustment —_— 18 Pressure Compensator c;d;;;} UL
Drain Port:G 3/8" / | Warning:don't adjust

‘ i 0
[14.7618 "*x32 JC) Filling Port

O i s-01;
>
o

2-M12xP1.75

253.5

W
ol L]
r= -

I:l'—'l" [=4=]

[Ty} L
] L
oh —
- (51}
o e

253.5

B4
11443

1IN
D82.556 90
II
" En__\_ 915 _|

(®) @) -D. 1
‘ 190
13 105.86
- 131 ol 35-1“? 1
- Outlet H il 0 ©25 = 131 il Inlet M 0 ©25
- 173 - - 165

V15GM,V18GM Remote Interface(Not include valve)
BI\:ER B H(RSHRERM)

MNGE
00 + ., + % EE R
. & b Pressure Adjustment
i i O 00 + " +

; : . g g
O Drain Port:G 3/8 Warning:don't adjust
it 1k A - \ 146.2 —=t2 4. 7618 9*5x32 40 AEiH
DEC.ig» Flow Adjustment 48 PR Filling Port
\ i =2
H—

| i 2-M12xP1.75
| | O | 6|/ 8 e 2-M12xP1
O @ - 1
= Ly
® = " 1 °° : &
= o =
" 5 T 1 -L| 0 | !
Hew gomletley ol = - a
%) o : o
' _/ - 1 1
4-M8x20— /
STEEE | Y ®25 | 35.1 _ 13
o —— Outlet Hi O 025/ | Fe———t—af | \Uinlet i 0 025
= 173 g ' [ P 1 =

V15HL,V18HL Load-sensing Compensator
B R £ 40 R EGFCR

Low Pressure Adjustment

im0 :
Drain Port:G 3/8" L e : 8 R % A4 PCH
o 106.8 44.5, Load sensing Port:PT1/4 High Pressure Adjustment
it o 96 5
DEC.IE /]x Flow Adjustment l——*‘rﬂ— 476208 30 i 0
I Filling Port
i 18 i 4-o11 B
REAPE “ 2-M12xP1.75
Wl o |
o] BB i
— el
©) o /| 3|8 < 2 B
© T ©@] s ' 7 S ] &
=t ] '
) ol O | '—ZI E )
l —1: 3 y
g i [
. > ! / : 1 i
4-M8x20 /
191 ©25 ol 351 13
i - L 147 e
173 Qutlet Hi il O #25 - 131 ] Inlet it il O @25
- = E 164.6

43



V E#i [0 fEZER

RERBE+LLAIRE N LEHRER S

AT.45
|-l—l-

V15HK,V18HK Proportional Electro-hydraulic Load sensing Type

xRS FCRE
Low Pressure
Adjustmant

5T .45
|-l—l-

i il O W i O T ) P e e 0% A PCRE
bk 0 =X, T R 7 4 1 - . " Drain Port:PT1/4 o ;
O Proportional Solenoid Drar Puro 38 \ I 44 /H'gh Pressure (R4t %)
DEC.g s Pressure Compensator - 278 - 4-011 st HhLL Warning:
Ty 965 | 445 [14.76:8 “5x32\ ~— \ / don't adjust
g f— iEi I:]
Flow Adjustment 48 ! A| E:ﬁng Port
. e :Et ik 2-M12xP1.75
ja [ —1 & uDl.n Ty =) ! I
h A
1 = = }
- T el © 3 o % oA
e/ E w E'i:[ - o
T@) @ * J 2 = h] —
/T\ o @ o é !
0| | o £ 1iHEH: ir
_J | ©® /@ o | R
() (o) 7"_ L — [= L
! Qutlet il O - [, 125.5
i 44 13 (190
131 76.2 Threads code 105.6
= - i 10:PT(RC)1/2" | 140 - 26.2 131 Inlet il 0 ©25
40:G1/2" = 173 o Ea—— -—
50:NPT1/2" 224 .|
V15HQ,V18HQ Load-sensing Proportional Flow Control R
ﬁﬂﬁﬁﬂﬁhﬂiﬁ]mlﬁﬂl Low Pressure
o 5 Adjustment
: ;:hr;nn Port:G 3/8" ﬁ_?ﬁﬂﬂﬂﬂﬁﬁpcﬁﬂ
bk 51 =0 i B 157 o "'nl 4 High Pressure (g &4 %)
DEC.i/  Proportional Flow Contrpl | 252 -] [14.76:0 925532 4-11 Adjustment Warning:
" 44.5 ; \ / sac don't adjust
Flow Adjustment Filling Port
(e b, 2-M12xP1.75
5] 1
WEE a1\ :
on —
= | = E 1 uw
5 . g
ol S 3 Ho 9 2
e - 5L
— )
u-:! HJ- l] =
_ o @
® @) 1 1
Outlet Hik O ‘ 19 190
= 131 1. BS i 48 A o —— 105.6
Threads code 85 131 Inlet if; 25
10:PT(RC)1/27 & 173 : — —— - nlet i i@ 0
40:G1/2" - 233 o
50:NPT1/2"
V15,V18 Splined Shaft Type V15,V18 Hydraulic Flange
BEANER EWLBER
5 . Outlet Hih O Inlet i i O Inlet i il O
i I T h i [135.1 24 [135.1 24 ’-'ﬁ'l -
B | A [
R "4 i )
E G b _ & ®_ 98 |-
E'E.: um-: @ = r = © )
= = B ¢ = - : —
a 5 B B $ ® =
3 ) & b L oy
L ! !
: 25 13.5 AL ZWEME Threads code BLE ZWEA Threadscode o4
e 10:PT(RC)3/4" 10:PT(RC)3/4"
40:BSPP(G)3/4" 40:BSPP(G)3/4" PT{RC) 3/4"
31:5, 29 50:NPT3/4" 50:NPT3/4"

S5:13T DP16/32

S51:9T DP16/32

44




V Axial Piston Pump

YEOSHE

V15,V18 Preparded for thru drive(SAE AA©50.8 )
B SRR M (SAE AA© 50.8, T 5 BI5EEA:E# (XS0 C )

V

15

C

*

i 0
O Drain Port:G 3/8" ';g-%% |
DEC I i 185 \ 44 5 Pressure Adjustment
B E
ift it 48 52 . [14.76:5 "**x32 3
Flow Adjustment 1 %iliiing -
9T DP 16/32 i P
\ N i g 2-M12xP1.75
AN | FLT : |
] LY
’@J x@ - ‘C':'_ =
i @ oo -
d ' N4 ﬁ# ks 8 é —d —1—}
o s/ g | t
C i ’ 8 3
\_...$... /..f | ' & |
®©50.8'5% - 4—MExEB—/ ‘ 7 Ao \
82.55 B2 02 " = Outlet 105.6 Inlet
- T - 146 = H 5 0 131 im0
185 b ~ s ' | @23
# & 2 pump C:SAE AA ©50.8 i -— _— -
B3XType| A| B| C |CG| D |DG| E |EG FG GJ |[GM| HL HK| HQ

O

B R o E ALY E G BTN
Thru Drive Option

V15,V18 Preparded for thru drive(SAE A®82.55)
RBEMEEHRE(SAE AD82.55, B HFRIFEAEMEwMN D)

Vv

15

D

&

iRm0
Drain Port:G 3/8" ';gﬁ;%
185 \ 44.5 Pressure Adjustment
DEC.& /M r
it i [14.7618 %2532 s 7
Flow Adjustment a4 Filling Port
9T DP 16/32 - 4-011
N > 5 2-M12xP1.75
. F —
T n : l
L= ™ Ts]
) & e | F o ® ' -
. Y 2 @ -
SN2 l: 4 1 @ . & IR
" 2 o I p ¥
- 41 < & y:
"l ‘ 'Y !
@ 82.55% """ 4-MBx2 13 190
P2 d = Qutlet 105.6 Inlet
06.3 : i
1 2-M10xP1.5 L - Hi i O 131 i il [
185 25 " 165 e @25
¥ 2 pump D:SAE A ©B2.55 [ = — -
#BTypel A| B| C |CG| D |DG| E EG FG| G |GJ|GM| HL| HK|HQ

O

O

iR R T ERANZEHIR
Thru Drive Option

45




V B[O ER

V23, V25R5I

V23, V25

[

i
we* &
=
65 | :
=< o= ]
o PGk Lk B PC olit off pgtiod
=2
=
i &0
o
55
0
0 324 B89 103 137 17.2 20.6 24.5
(35) (70) (125) (140) (175) (210) (250)
4 BEFSIE > A MPa(kglicm’
* BREHIE: 1,800r/min o
* B 1ISOVG32 =X
*H B: 50°C = i
V23 — A8 M Bk W OB V23 BhIh E S
100 = L 20
ol dfficlenc T T
80 e
T X;'E-Eiﬂau STpTeTey q . @yé
R
o[ A - i
60 i = o
= ‘( 504 25 gm //‘ %g%#
b1 a0 i Moulput|flow 404 20 £ / 2 '1““@__..-
& ot 304 15 / AR
& = 254 10 ! : /?/’/ﬁ
20
10 =] d L ”'ﬁ
I pnfa'fq*ﬁ.'." *‘ J
- f@ﬂ*ﬂ‘" r 0= 0 e 6.9 13.7 20.6 24.5
0 3.4 6.9 10.3 13.7 17.2 20.6 24.5 (70) (140) (210} (250)
(35) (70) (105)(140)(175)(210)(250) .
—» [ MPa(kgf/em’) T T —» B MPai(kgf/cm®)
E &
V25 —HRtEdE = Va5 BIhE 45
100 — g E i 45.01/min
PLE
a0 ,_J=I—-—=-= <0 7 ] 41.41/min
.-"'"-.- /
80 7
70 7¢! - _15 SS S
— BO f - i s ,5_&/
i 50 50 25 210 / o
= an 404 20 = / “/ﬂ @ !
A 30 ,-af:E 30 15 ] . ﬁ%{/}’
s =
20 e 25410 &/”’
10 = d 1045 S
M e 088 il %% BAs
(35) (70) (105)(140)(175)(210){250) Us } ) )
—» [ 1 MPa(kagl/cm”) —» [ MPa(kgficm®)
FhEEIEMA T E RRESY
1.6 -
< " 2,3 4852 3,4Typd
i =
: f L e
Ea.n a_ 1.2 1ﬂﬁﬂ_jﬁgc|:-erin Pc&f
LN E e PC El‘i(FPEBﬂ
x oo i ® o8 PC period
s — -
$is ? Tecay l /[//
1.0 ﬂal"f%-d.r‘fpe 0.4 oC 'jllf
0.5 —'-E:ﬁr-.-ﬁ: Eﬂ“.l TV.% —l___‘i__.____..--
0 0o 3.4 6.9 103 13.7 17.2 206 24.5
. E@;Q} f—f-'g] {11%3}313¢3]31??'§, [EEQ'E, [EE‘E.;‘?}, (35) (70) (105)(140)(175) (210) (250)
—» B MPa(kgf/cm?) —» B 1 MPa(kgliem’)

46




V Axial Piston Pump YEOSHE

V23A,V25A Pressure Compensator
BERHBER

ﬁlﬁﬁ Drain Port:G 3/8" INC._F+ & Pressure Adjustment
DEC gy Flow Adjustment

[16.35-8 88 x40

- 223 \1 58.5
5

-—
1

it O
Filling Part

@222 8 oes
®25.08-8.15

110

1/
&

LI |
.
@101.6-8.08
193

_I_l" '.

182 _‘

‘ 13.5%§ 3

-

1
m

|

- 182

_—

14
26.2 - Outlet 4 O mzs/ L 130 -—‘

200 -

\ Inlet #jh 0 ©25

V23B,V25B Multi-stage Flow&Single-stage Pressure
Compensator Control(With Cylinder)

HEESR SN BRI RETEERICEH B

Pressure Adjustment

()

L INC . B
Drain Port:G 3/8"
4920 58.5 [16.35-5 82x40
= i o o ||
RC1/4 Gl ol Filling Port
'IEI___ C; ~=;
F.E.. ) B g9 | © i
A = od| W
ELL W N ':u:l
— e| o sl
= o _‘ / E 4 g
o CE | T |
®25 ﬁ s i
[/ — = il =
< = 3
& - 1 |
26.2 14 L 148 .
- ' Outlet HiB O D25 Inlet itk O 025
4-M10x1 170
—

200

V23C,V25C 2-stage Pressure&Flow Control Type

35 R A A5 FCRY
M EZ R 7D, it £ 12l (B E3N) Low Pressure
37 B e Adjustment
i
O Low Flow Adjustment . o E;Eiﬁﬁeﬂpcm
; i M iEi .
DEC &k fﬁ%ﬁﬁfﬂdjustmenl ' . . Filling Port Adjustment O
290.5 \ 1 08.5 [16.35_5 asx40 \ INC.F+
. i 21 o, @ | ] 5
o 18 et | e
s o [ap]
= ﬂ' E 3 3 T3 h-
H_q_m g g w r:'“ o
o fll ol [Fe] =
H ‘__[ —T] - od o L =
© -1%. / = i
i ey 11|/ AR =1t
® i}( ] = 1
= o
= o i
! & f B g 1 1
26.2  —eitfald DtIIJ:I:'."EJ:lEDEE/ L 145 -‘ \I let it O @25
4-M10x16/ : el gl nlet i
L 182 - o 170 il e 182
L 205 -

47



V #i[0fEER

V23CG,V25CG 2-stage Pressure&Flow Control Type with Remote

T BRI 1, PR B 1+ 2 £ 5 R ) 2Emuasron
shiEE R RO Adjustment
Remote Pressure Porl:PT1/4 e
- 280.5 oy = R A B iR & PC R
O pmEEE —-— ) = il O High Pressure
Low Flow Adjustment 8 i B B Filling Port Sikcistint (e SR )
DEC. /N FitBme Drain Port:G 3/8" [16.352] §Ex40 \ J Warning:
High Flow Adjustmen don't adjust
: o 51_| _58.5 i __i |
i 2 o
\ o 19 _ L — _mh‘
H—L_ : % N
ST, 14 e iy
':EF' _.E = =,
i s recyll S EE -
— — @25 o T
- s =AY : E
O o ' 11 1r 1
1 . / 1IN
4-M10x¥6 - 25'21?0 Qutlet Hikh O D25 s Inlet it i O ©25
- 182 - L SiE i - 182 e
V23D,V25D Solenoid Controlled Pressure Compensating Type
With Unloading Device 45 A 85 R 6 FC
ﬁmﬂ]ﬂ Ejjmmﬂﬁ Low Pressure
’ Adjustment ING.F+ R
iR =% 4% 5 R PR O s O g SR AEIREPCH
Solenoid Control Valves Drain Port:G 3/8" ;:ilrlin Port High Prassure
it 3R Y B 297 - ERE (16.35 -5 $Ex40 - Adjustment
DEC g Flow Adjustment |- 5 o e \ /
I O 5| o5 A
—1 QOIS T /33 Y
1 a8 | |
a8 o o
w i a2 o | —
© @ & = | B -
Eﬁf" [ = rﬁr:ﬁ :ég— © —__'-_}
S, D25 _d,;)j l|l = —
a-l. | <t ' =] ' E
o ramn i
Ry ; ;
=l 1 " Ly / L _‘ \
4-M10x16/ 4 = Outlet til [ ©25 146 Inlet # il O ©25
182 - [ S0k = e 182 el

V23DG,V25DG Solenoid Controlled Pressure Compensating Type
With Unloading Device & Remote

E BRI, B HmMIREH

ShEEEEAEEED

=W EIREFCH

Low Pressure
Adjustment

iR =¥ h (=) N R PR Remote Pressure Port:PT1/4 ﬁ-ﬁﬁ%aﬁiﬁpcﬁi
Solenoid Control Valves m LI £ - _ il O 19N FTESSLTe (5 5% W )
% LI i 1 [16.35%5:05%40  Fijling Port Adjustment _ Warning:
Flow Adjustment Drain Port:G 3/ \ don't adjust
DEC. &/ O 5 S58.3 i ] {
= D: i | o n_
\ @ g n| 3 ﬁ \
ol w
- o o
) e o w| o, 2
] @ @ f ] el 2
6 ° (o f - | :
o/

—-1

&

©101.6-F0s

! | |L
o ET
iiAd !
%_ - _I_ i E ©25 i}[ B
=t
@ | @) 3 A e
— +- — ! / 26.2 14 5/
4-M10x16/ 170 Outlet @O d2

@)=

o
o

1

116 -‘ \ Inlet 1 i 0 @25

182

it -

48

—



V Axial Piston Pump

YEOSHE

V23E,V25E Dual Pressure Control

ERMERHBERS e O
Lc:':uPressura
ovicuph st il im0 Adjustment INC. 7+
O Eﬁsilgnﬁ?ld Control Valves o B A — mi%iﬁiﬁﬁ?ﬁﬁﬂ
- Filling Port .
DEC. )2t Adjustment - 297 \ 58.5 [16.35 -3 §Ex40 2 \ Adjustment
(= =] [ ]
| : [ :
. . = 1
o L]
6 ¢ (9 & “ ¢ Ak
—" ™ = Al il
- T OF) et
| D25 =
| o
1:]: (=]
© 9 | 4 3 7 A . )
14
182 4-M10x16/ o=tt=-222 Dunertufmnmzs/ I- LLL —‘ \|n|etigfmnm25
e - 170
— — 182
- 205 J = -
V23EG,V25EG Dual&Remote Pressure Control
ERERZMERBHAEERH % [T AHFCRY
L|:r1:u Frassure
Rt il o) T PR S I ) W 8 4 o
Solenoid Control Valves Remote Pressure Port:PT1/4 A R s PCRE
High P
DEC 3/ Flow Adjustment Drain Port-G /8" LB d -0. 05 illing Port dnn&}trg:jr‘;ﬂ.st
‘\\i:ztj o 51_| 58.5 I J_
o 1 g = ﬂr
5 e | 93
_ ql @
w0 o al © =
©) E:-!}’ & @ \E- 1 /I ’ < =
——" ol

|

1

——|

34

|
0
1
|

—
182 _l

©25
<
1 3 ¥

d-M10x16/ T

1

1

Qutlet Hi O ﬂlEE/

146

182

\ Inlet it 0 @25

V23F,V25F 2 Flow-2 Pressure Control by Solenoid Operated Valve

SRMEREN MERREEH

i =L 3 = HE R

Solenoid Control Valves

iR E

Low Flow Adjustment

i IR
High Flow Adjustment

49

=R EIRErCi
Low Pressure
Adjustment INC. 3§
B 0 B E P EEIREPCH
Drain Port:G 3/8" e High Pressure
» 297 (16.35-0 xap  [Filling Port | Adustment
o g = ! — 1
O J a | :
10 o 2 — I
— E E i
=2 [
1 / o in| =
i ey || WIS m
©25 A b
5 ! RE:
3 7 L I
i 14 / \x
4-M10x 16 L . Outlet ik O ©25 Inlet #iAO ©25
= 182 el
205



V #i[0fEZER

V23FG,V25FG 2 Flow-2 Pressure Control by Solenoid Operated & Remote Valve
SRERZWMERET, MRS (o Prattrs

A Adjustment
T 3t 8 1) L shiEEEEAHEED -
Solenoid Control Valves / Remote Pressure Port:PT1/4 15 7 I 4 22 4R 44 PC Y
SR R 297 i o High Pressure
O Low Flow Adjustment 5 O / & [16.35-8 8 x40 Elﬁng Bt Adjustment [ﬁ:ﬁ;ﬁﬁ}
o it o Drain Port:G 3/8" \ dont adivet
DEC.® M High Flow Adjustment A - = I .
il m O il i E E
1 \S 2| o5
' o @ =
ol © -l;
8| o o =
uw B v
e 2l = = =
7 - @ = ==
®25 _§— 5 W
% al @
a f L S H
/ 26.2 14 146 __‘ _
4-M10x16 170 Dutletthfmmmzs;/ Inlet it ik O ©25
P Sl 182
—= 182 =— - 205 ol —= .

V23G,V25G Remoted Pressure Compensator Control
IR W R R Romote Prossyre PortPT1/4

oL A (RRME) B H
o i J:ll‘_ﬂ.I.[I_ED_I’_L_G_ﬁJ_E_\ Warning: Pressure Adjustment

Flow Adjustment [

DEC i/

don't adjust \
58.5 [16.35-8 P& x40
] 0. 05 b0
) 8 o i Filling Port
e ol &
! ]
a8 ™ P
u e ) i
S| = i '} @ 3 w| o
1 &) E i | m| &
E * %—F— :.a —1_1
2 ]
5 [+ ]
‘ it * e 0
' % ' = i
_l 26.2 = / I_ 146 _J \
18 4-M10x16 Yo Outlet # il O ©25 Inlet i i O ©25
[ e = 182 =
.. 200 sl

V23GJ,V25GJ Proportional Pressure with interface
EIVLEBIE Dzl

553 b ) = T8 w4 i R4
it i - - Proportional Solenoid
Flow Adjustment | . . 2 Pressure Compensator 2 5 0 85
DEC.Jh Drain Port:PT3/B |—m 13/ P;s.ﬁs;;.;.dpustmem
) (
e} . Fim O
8 e Filling Port
a E = @
© _H*% el & S i
© f’ Q) d L u. |
| ) i H
[h ©25 v H = : : =
L O - I & %
\ Y ; o L | IV NS =Sl 1
4
26.2 L 146 J \
182 - 4-M10x16 - nuﬂetHﬁmszs,,/ Inlet i 0 ©25
- - = 182 _
2 200 A

50



V Axial Piston Pump

YEOSHE

V23GM,V25GM Remoted Interface(Not include valve)
BILEREHI(RSHER)

NGE
+ ., +
e & 3= B g
O p—_— 237 B0 + ° + Pressure Adjustment
i i -
1 Flow Adjustment WO 51 iﬁ#fﬂﬁ} ., .
B Drain Port:G 3/8" [16.35-8: § x40 yaming.oeicadinst
- itih O
8. g = Filling Port
II @ i g =z | =F ]
oyl oo
3 e 2l =l 8
=) 0
e
) ¢ [ - =1 b o
! TN m iz Wi
Lz - ™ o= | 0
T b ®25 v @ & = .
=]
‘ ! E — I r | et =]
/ e L _‘
26.2 ] — e 146
= 182 ..J a-M1ox16/ ™ 2 170 Outlet Hil O m25/ \ Inlet i il O ® 25
V23HL,V25HL Load-sensing Compensator 4 5 A 4
ﬁnﬁﬁﬂﬁ] Load Sensing Port:PT1/4
EHRERFCH
i i 0 Low Pressure Adjustment
Drain Port:G 3/8" it R R PCR
O ey L L 223\ High Pressure Adjustment
. —=i —
DEC. i I\ Flow Adjustment B ==3?_=
58.5 [16.35 5 x40 o
P im0
! - ‘ Filling Port
= o5 | =2 o
g |/ ™ & 7
ol
L} ] g o] ]
. L] =
n ] J.f] 0 - e
'@ E% @ % ;gj 7 - E{E
= - -é_ o 1 =
ﬁ ¥ E 5 @ T
© ® < o p
— — ' m ' 4 k'
26.2 14 / L 146 _‘ \
L 182 - 4-M10x16 B 170 Qutlet il O @25 Inlet it il O 25
- 200 ] - 182 -

V23HK,V25HK Proportional Electro-hydraulic Load sensing Type
EHRE+ LR A LLERRERS

ERFEREFCH
. Low Pressure
284 i i O Adjustment
b 1) 0 6 o e 0 BETE = Deain Port.PT1:4 ﬁjmmﬁﬂﬁ!ﬂ#mcm
Proportional Sclenoid Drain Port:G 3/8" 39 Hiagh ngsuré L
O Pressure Compensator 116 [ 16.35 =0 x40 Ad?uatmanl (S B 82
Warning:
250 : i [ don't adjust
51 - H = Filling Port
1 =5l °%
= R E
E‘ [or]
= e 3
- iz | o
= = —LaDH m| &
®® p = 0 .=
) — w | — L
% i : )
I ' 3 : 2
—_| 1 . \
- - 75 146 i
Outleti ik O 200 . 3 g i:%;ﬁan
i 5 4 = 247 -
Threads code b i 5t o 4

10:PT(RC)3/4"
40:G3/4"
50:NPT3/4"

Proportional Flow Control




V #i[0fEZER

V23HQ,V25HQ Load-sensing Proportional Flow Control

=EEERLaFChH
‘.EEEEM"‘H’JEJ%!E*J Low Pressure
279 Adjustment
L T [16.35-3: 5% x40 2 55 IR R 4R 44 PCRS
O I Drain Port:G 3/8" ... o el High Pressure
DEC.# /I Adjustment (R
i 255 i - M WEILrnin_g:
Flc:w;id'ustmenl 8 = —H’{ / FEEFH A caniAniuet
I @ = o| ed . Filling Port
| 4 2 ;
6 ® (o : |33
=i | dd I 1
Aﬂ — — —} ® @ / | g E’E:_ 5| 3
| ) A |
— ' é E) H = = ¥ 1 @ —+
== @a ] 5 —"m
248.2 | Bl ' "":"'
Qutlet il O 11 14
B E R - 160 I
Threads code I 200 - | 76.2 | 1486
10:PT(RC)3/4"
40:G3/4" b 1] = i A 5 ol - 248.2 -
S50:NPT3/4" Proportional Flow Control
V23,V25 Preparded for thru drive(SAE A © 82.55)
RIEIXEIHER M (SAE A ©82.55, B FRIsEAEE{LIwNN D)
V]23 — D Wi O
g 224 ___‘EE.E_ Pressure Adjustment
9T DP 16/32 o 32k ] 51 [16.35-4 fix40 ING. T
; Drain Port:G 3/8° g iEtim O
@ ifie S e 4, |/ & = Hling
. : Dggﬁ:]xﬂﬂw Adjustment <2 ":‘ E I Ll By
(!) | 3 | 1w .
@ =] g = 'l
AI ] = e E‘? o
[ ] _ o 2 @
= Fami% ey |l PR 4
He = & 1
< : & @
D82 55401 2-M10xP1.5 i LI 1 L
062 15
106 i 170 L]
il 4% Links D:SAE A ©82.55 = 222 - = 182 -
V23,V25 Preparded for thru drive(SAE B®101.6)
RBEEHRB(SAE B0 101.6, BIFRIFTOAEEESN E )
V|23 = E BhEn O
- 224 ol 085 o Pressure Adjustment
9T DP 16/32 —— 51 [716.35° §Ex40 INC F+ B
l@l O s o 4 Drain Port:G 3/8' 1q_ / % =
l\ll,J\ DEC.HJJ\FIuwAdiustmenl g '—:,I E i
(] af
) L) / E g
ek —I mi = o
[ s L g o B
é\ ’ E} — 1 — i pomen e
B o
+ 8
+0.05 o & LI 1
10T Lol |15 w12xp1.75 E sl 26.2 ol |14
. 146 | 1 170 | = 146 _
182
55 Links E:SAE B ©101.6 - 232 - = -
BXXType, A| B| C |CG| D |DG| E |EG| F |FG GJ |GM| HL|HK[HQ

O

O

O

O

O|®

RE 2R TERABVEFIEYT\ Thru Drive Option

52



V Axial Piston Pump

YEOSHE

V23,V25 Axial Port
# (R NERIFEREES iR B)

V

23

223

()

B hE%E
Pressure Adjustment

INC.HE

—ing

\

i
Flow Adjustment

()

O 1
Drain Port: G 3/8"

@_

58.5
T —

©22.2 8 oes

©25.08-915

16.35-0 §E x40

E
Filling Part

(@_J DEC.if /1 ‘l:—_ i '
FEI2 = + 5
WI \ D ﬂ EI_ © ' 2 o @
@@ '@ @_ £ s - !
h i \ 5 @ * __¥7]_
|n|%r i.Ei:_? 0—"26.2 za-zﬁ—mué!eu Hil O i ! 3 S
AL fic & 8B B
Threads code 66.6 Threads code 14 1 L_.é ||
10:PT(RC)1" 10:PT(RC)3/41 200
40:G1" L 194 - 40:G3/4° . - 146
50:NPT1" S0:NPT3/4" =5
B:if 77 i i
B:axial port - 232 —_ — 182 =
V23,V25 4 connections for axial port
R A0E 75 B (B RIS E B R 15 A 8110 B2 ) wome ()
INC.FH &
¥ IZQ BZI - [16.35:0 82 x40
e 223 L5 SR i O
gcffer Plat ﬁ% ifflﬂﬁ i i [ 51 . 32 Filling Port
low Adjustment Drain Port:G 3/8" - g = /
g0 O \ i .
® DEC 3/ é E— i e o / @ e = H -~
1 ({ | - FE Ui N o @
@ @ | = || % N __l_
Inlet i 0 © ~—— ©J |outet#imn ] P !
A ' L A £ @
Threads code Threads code “".‘ i
10:PT{RC)1" s 10:PT(RC)3/4"% m ! !
40.G1" | -|40:G3/4" .5
ONPTY mwer, mmmmmesmm O o S0 -1 B
Pipe code B2:4 connections for axial port i - = 182 _
(R tH ik 5248 7 ) ith 7] B 48 B e = 224 ol 210
interchangeable for side and rear port) = = =
BXTypel A| B| C |CG| D |DG| E |[EG| F |FG| G |GJ|GM| HL| HK|HQ
#75HBoE R ZEHIE T Axial Port Option
V23,V25 Splined Shaft Type V23,V25 Hydraulic Flange
BEsNRR EHBEN
42.5
o Outlet Bl O Inlet if i O
__, 262 32 262 22
o i
®
id—
e
o |

[

22

33.5

=137 DP16/32

AL & SR AL
10:PT(RC)3/4"

40:B5FP

Threads code

(G)3/4"

S0:NPT3/4"

53

B & ¥ & Threads code
10:PT(RC)1"
40:B3FPP(G)3/4"
EO:-MPT1"




V#IOEER

V38. V42R5I

—» BREF{H(dB-A)

V38, V42

75

70

.

n
h

[a]
=]

PCH#E IE 5 PC out off pgriod

55

3.4 69 103 13.7 17.2 20.6
(35) (70) (125) (140) (175) (210)

— B MPa(kgf/icm?)

* EHEEEE . 1,800r/min
*{EHB: 1SOVG32

*iB i|E: 50°C
e o V38 — A M e

100

— i M (Vmin)
—— BHIHEE (kw)

a5
30
25
20
15
10
5
0
E =
E =
=
I
100 E =
m [
B0
80- 40
70
704 35
—~ B0
ﬂau o b
ol 50 25
R0 40 20
fau
ﬁ?ﬁ' 3015
20
, d 2510
1E -_! o %T_Eif_-_'f-__ g 1045

0 34 69 103137 17.2 206 245 5]
(35) (70) (105)(140)(175)(210)(250)

—» B MPaikgt/em®)

R ThE
)
=
W
ﬁﬂ.ﬂ /
E2.5 e
EE.G ,,.-'""‘
T-IIE. ] Y I4T'!||'FIE
1.0
0.5 _ﬁ:&%ﬂ‘:’t‘l Typa
09 34 B9 103 13.417.2 20.6 24.5
{35) (70)(105)(140)175){210) (250)
— B h MPailkgfiem’)

V38 BhizhE 4%

40
'535
= 30
EEE
# 20
T|5 :_j;f

10 e =]

= ]

00 3.4 68103137172 206 245
(35) (70)(105)140)175)(210)250)

—» B H MPaikgf/cm’)

V42 lTh 4515
40
z35 ?E.t}l.fmin
= .0 “A 67.8/min
%25 fﬁﬂ
g A
20 Ay
T 15 e - = .ﬁ._ IIE""-.
L
10 /f
5 —;jﬁ =

U9 3.4 6.9 10.313.7 17.2 20.6 24.5
(35) (70) (105)140)175X210)(250)

—» B MPaikgficm’)

it i
1.6 SO
iy 2,3,4&:‘&:2, ,4]_'5“}3 ) PPEH
E i E""F PC period
= .2
] C“| PC
g 1R TyppPCp "'ﬂETP:: liﬂ‘l
B 0.8l
‘[‘ PC
0.4 PC period
.-"'-.
LA
'Dﬂ 34 6.9 103 13.7 17.2 206 24.5

(35) (70)(105)({140)(175)(210)(250)
— &1 MPaikgl/cm’)

54




V Axial Piston Pump

YEOSHE

V38A,V42A Pressure Compensator
BAHhmE=E

()

INC .7+
[E e
O _— 232 ,._5’5-5.'... Pressure Adjustment
DEC. ] L A
- i " e i }_:EJ:ED
FmEE LR EpT e g (J6.35°3 §x40 Filling Port
Flow Adjustment -_g o 32
O T .
o e
6 - - II S — o] W2
o | ol Ln o
| ) 2 ﬂ;x A 7 . | -
L =% o
- -
- P §g""L' - y) amAl
2| I S - 3
@31 B 1
/11 |] 302 ,_‘ | 14.5 _ / 146
- 198.6 4-M10x16 } B 179 il Outlet i O © 31 160 Inlet il 0 ©31
= 209 i@ = 198.6 "4
V38B,V42B Multi-stage Flow&Single-stage Pressure
Compensator Control(With Cylinder)
WESE, WMSHEL, wEgEERey ()
INC 7t B
8 428.5 1.58.5, Lk L
e = Pressure Adjustment
Drain Port:G1/2" 14 [16.35-5 (8 x40 E;an -
RC1/4 T Il 8 3
o8 |
i N
0— - - Y o
ET [..4.:1 i & E i & -
§ =< -l
= Pan) N =| © __}
u _9/ =
) I & R
©31 r
30.2 __L__M
4-M10x16/ ] T Outlet 4 i O m31; ; Inlet i il O @ 31
G 209 - L 198.6 .
V38C,V42C 2-stage Pressure&Flow Control Type O
MR, WMiREREEEI)
ING .7+
/) i R i R R & FCRY
O Low Flow Adjustment _— Low Pressure Adjustment
: % i M : EEEEERsPCH
DEC.H/N High Flow Adjustinen o 31 O 716.35°3 Bx40 Filling Por e e

Drain Port:G1/2"

/-

13.548 3

|
72 _\_ 122 |33
e -

. T\ 4
Lar
g0 m
1 = o
3 4 [ -
J: 2 &) ¥ o
AP :
'n —
=
+) 12
®31 — 1 '
30.2 ——l— 13.5 L
198.6 4-M10x16/ —T=trTT= Outlet HB O @3 o
L. 179 2l
- 209 ] " 198.6

53

Inlet iff if O @31




V E#i [0 fEZER

V38CG,V42CG 2-stage Pressure&Flow Control Type with Remote

il O
Filling P = REEIREFCH
ERWMREN, WS SR ingpon  wEmmEsrom
I G e hEERRENAEERED =
Low Flow Adjustment = A O 294 - Gy Remote Pressure Port:PT1/4 ﬁ;%ﬁiiﬁiﬁﬂmsm
DEC.jgM KEMSFHE Drain Port:G1/2" - \
High Flow Adjustment 51 i (6 2 5 BE)
o [16.35-8 8 x40 — Warning:
E_ [} L » ™ don't adjust
[ 2 ks
L - 1 I 1
v 3
! | I i -
P / ol Y Eﬁ o I Go| ©
& 0
. m 3 ET K- N JR - EE
He D=  ar
e E o No/||H T & {
i 31 AL = 1 = 1
# 1 S . / L 146 __‘ \
4-M10x76 - -—Eu'ﬁ?g Outlet i H 31 i Inlet it il 0 ©31
1898.6 -
= - - 209 = s 198.6 =
V38D,V42D Solenoid Controlled Pressure Compensating Type O
With Unloading Device NC T
® EER R FCR
ﬁgﬂ]ﬁ'gbmmﬁﬁ Low Pressure Adjustment
BAER A @M 301 58.5 et 8 [ A S A A PCI
Solenoid Control Valves 5 o EFH! H High Pressure Adjustment
8 5/ O 51 16.35°0 22 x40 Filling Port
O ifft i Drain Port:G1/2" AR \
Flow Adjustment et T I
DEC. i/ g oa| ==
T —T H O i of &
v T
el o o
& I L / # 7, | = &
¥ | &
. [ ® - ¢ E B i
| y 3 AHEE=h ° —) ep—=—1
ARANE 1 £ :
= || a1 iy
©31 - 1
‘ 30.2 __L..._..L 4.3 ;‘ =
4-M10x16/ ™ g Outlet Ml H @31 P Inlet il O ©31
198.6 _l L 209 3 ot 198.6 e
V38DG,V42DG Solenoid Controlled Pressure Compensating Type
With Unloading Device & Remote
ERERES, R HmER o
Filling Port imﬁﬂﬂgﬁlﬁ:ﬂﬁ
B WS EE : Low Fressure Adjustment
. 301 ShEEEEhEEED
Solenoid Control Valves 4 0O i Hemote Pressure Port:PT1/4 &;%iiﬁfffdﬁﬂmem
O RS Drain Port:G1/2" 282 \ / "
ow Adjustment =
DEC &/ 5 - [16.35:8 8x40 WarHing:
i D f-l— o " E don't adjust
o a b &5 =
_ K< T [ o 3
) - 8
r. |' e & 3l L|!'.!- Le %
{5 ! _IE o E.‘{ ey
[ a | i T &
o N S .
' Dl +H
i ° :
| D31 | 1
302 14.5
4-M10x16/ =~ 179 Outlet tﬂimnma; Inlet il 0 ©31
198.6
209

56




V Axial Piston Pump

YEOSHE

V38E,V42E Dual Pressure Control
ESRMEEHAERG
BT B A () PR

Solenoid Control Valves

301

i . 5
Flow Adjustment

Rk

il B

()

INC.F B

= B AR B AR A5 FC R
Low Pressure Adjustment

EEEAERLEPCH

High Pressure Adjustment

DEC.i& Drain Port:G1/2" L3
o -+ - |
O .:,E pee 0
O : o E i
ol 8
=} o
b . e o | = 3
| : i 2
E 1 N .
1 -
9 ‘ { !
Outlet H it O @ 31 142 —‘ i
198.6 utlet o - Inlet il 0 ©31
- 198.6 "
V38EG,V42EG Dual&Remote Pressure Control
ERERMEBREBEHBRES i O
spzEnEnmugn  Lling Port 2 SR SR A5 FORY
BXEE S @M Remote Pressure Port:PT1/4 Low Pressure Adjustment
Solenoid Control Valves 301 & 1z o [ ] i & PC R
B R MmO High Pressure Adjustment
Flow Adjustment Drain Port:G1/2" ‘ (B
DEC &/ r 16.35 0 32xaol Warning:
i Wi o ﬂ don't adjust
o | -5 i
_ o =]
J 8 g o
. = = en| W m 0
| [ " o ?_‘;
§ oo
h g
== = b2 I
| o !
30,2 146
4-Miox1g/ T ; Outlet il O @3 160 Inlet il 0 ©31
198.6 =
n 209 - 198.6
V38F,V42F 2 Flow-2 Pressure Control by Solenoid Operated Valve O
EREWMEREN, MERRERD
INC &
BEXEE A e 3 [ E| R AR R FCRE
/v i A 82 Solenoid Control Valves Low Pressure Adjustment
O Low Flow Adjustment 301 1w A g PO R
ok i AR 8 O EI:IHE H Bort High Pressure Adjustment
%/ Hi =i ! 0.2 illing Por
DEC.#& /I High Flow Adjustmen Bl Poiiaiigs [16.35°0 §E x40 g /
== I o & I
TE N\l 1] [ e
P s
o1 | 1° AN
. o o
~ - 1
B € I £() 3+
| > 2 ol f ~
®) © 31 ¥
I
30.2 —-L--—“‘-5 ; 146
198.6 4-M10x16/ rp— Outlet Hih O 931 Inlet i§H 0O ¢ 31
179 160
- 209 198.6




V #i [0 f+ZER

V38FG,V42FG 2 Flow-2 Pressure Control by Solenoid Operated & Remote Valve
SREZMREN,ARREEH

BAEET M
Solenoid Control Valves

o i AR

()

High Flow Adjustment

301

8 i O

ShEEIEREAEEED
Remote Pressure Port:PT1/4

iFim A
Filling Port

= B R EahFCRY

Low Pressure Adjustment

=B R PCH

High Pressure Adjustment

DEC i/ Eﬁifﬂdjustmenl Drain Port:G1/2" B \ \ / l (W358 8%
A — [06.35-F Bix40 T Warning:
i = O o E‘ don't adjust
| — 0 E;,E —
_ @ 2 L
- ll & o3| ey el -
P g T
i} g
- o P — —
[Jope s R rARSP, 5 S
| 31 2 !
= ! _ / 146 |
4—M10x16 — - 3':'21?9 'DLJHEt :':HTEU"I'S‘I 160 |I"I|ET£J‘$D¢|31
L. 198.6 B = 209 2 198.6
V38G,V42G Remoted Pressure Compensator Control
o i 1l 4 IR AR 2 8 O

BiEEREBHHERS
i iE 0
Drain Port:G1/2"

()

DECG.i&

198.6

R - 2023 = 585
Flow Adjustment 119
5
I 1E_._
ihﬁg
—_

n
E [Ty}
| !

(ESEEASE) HE-hiAwe

Warning: Pressure Adjustmen

don't adjust

©22.2 §oss

Remote Fressure Port:PT1/4

14.5

i

\ 39
A -0, 02 iEil O
[ 16.35 5 as x40 : Filling Port
@
=
e s |
L= - T
| ey 77 e
od| 0| v~
5 ][5
¥ oo i
s - =t1
P2 ts
5 o
1 1
/ o {48
Qutlet H il O @31 Inlet il O ©31
160
198.6

V38GJ,V42GJ Proportional Pressure with interface
EI\LLHIE L

- = =
O gf:uﬁ;ﬂ}ustment 1 91 Proportional Solenoid
im0 i Pressure Compensator
DEC.BuN Drain Port:G1/2" 1
! \ 10 16.353 % x40
§ [ [lses/ g
E ]' Ll o =
et al al 2 ’
o el
E‘ 5 i _
<
i r‘:: {G\ __‘£ £
Ll -
| -¢:J y e
r ®31 3 r
/ 30.2 _.L....M Outlet it O © 31 /
o 198.6 | 4-M10x16/ [T 179 i
- 209 5

232.3

bk 1 = W o 1R oy = vl B

58

= B R RS

Pressure Adjustment

(e 5% AR B8 )
Warning:don't adjust

i O
Filling Port

13.5'%:2
113.5

T4

1
146 -|
ST Inlet il 0O ©31
198.6 |




V Axial Piston Pump

YEOSHE

V38GM,V42GM Remote Interface(Not include valve)
BIVEREHI(ASHER)

() ans

DEC. B

Flow Adjustment

- 232 o
w0 21
Drain Port: G 3/8" 18
8.5

©22.2 8 oos

NGE
20 + , + = S aE g a5
[ 4&“ Pressure Adjustment
g0+ ¢ (B RAE)
[16.35-F §Ex40 Warning:don't adjust
& FimO
e Filling Port
@ A
o
a |
o ol o
{ = 9 o =
o B {
E =
G 0
o P~
|

1

14.5
= / 146
I 198.6 =
: il EEED
V38HL,V42HL Load-sensing Compensator Load Sensing Port:PT1/4
BB e
Low Pressure Adjustment
i O iR PCH
Drain Port:G1/2" High Pressure Adjustment
R - 232& 58.5
Flow Adjustment 119
DEC ./ [— - 1 [J6.35-F &8 x40 3k 0
: g ]_1 Filling Port
9 sl o .
ol 8 =
| T
| - L
1 ﬁ? | o
/ E )
B 6 o : S
S D
v od
(C) FEF =4 P

Outlet Hik O m:n;

L 30.2 \ "
179 & Inlet iff il O ©31
209 - e 198.6 o
V38HK,V42HK Proportional Electro-hydraulic Load sensing Type
SRR+ LLHE A LLLHRE RS £ B ERGFCH
o 35 O] Low Pressure Adjustment [ﬁﬂﬁﬁ]‘
X7 x arning:
Drain Port:G1/2" ﬁ;ﬁﬁgﬁﬁzﬁﬁmm don't adjust
bk i =, 8 B 4 ) 292 1
Proportional Solenoid e : = 585
Pressure Compensator 119 st []6.3528 8 x40
DEC W T I - ! ol Pl Por
i 3 o f = .
Flow Adjustment 9 eo| o o
-11:_ N o
— ‘g"‘ 0 I
=) = g2 o
{ " = = SRS A
nn @- : _,.-" 1 r | D".i :
P~ ® @ | od P g "
o L] —
- Lo D= | T
® \| [ * g i P
| 1 o ! A\ 1
146 _|
262.3 g1 mmn / inlet
Outlett i O - - Duain Port:PT1/4 140 ] il O
At B 4 - 209 - . 160 © 31
h = | =l
Hiderbon L 1% 5 2 4 = =
40:G1* Proportional Flaw Control = — =
S50:NPT1"

50



V E#i[0fEZER

V38HQ,V42HQ Load-sensing Proportional Flow Controle

ﬁﬁﬁﬁ&ﬂﬂbﬁlﬁfiﬁﬂ

=R e FCRE
Low Pressure Adjustment ( ek 255 79 3E)

EREEBEREPCH Warning:

- High Pressure Adjustment d0n'tadjust
O ETTE 283 \ 39
Drain Purt'.G1IE"|""—5"" [16.35-¢ ggxwl \.— i T
DEC s ) ; ) (o Filling Port
i I g e S - ]
Flow Adjustment = 2 e e
=) 8 & [
- il\ = e i 4 B e Ly
g @ ° - hﬂ : B g
EL | ® @ L i f 1 L J_E y 2y
= @ tla @E l “g J-__I_
, @ ! b ¥e C I
| L al |
e L — ¥ ! = !
Outletti i O 148.5 "1™ 145 _L —I inl
262.3 ! - : - rniet
ALE WAl Thread d :
1r;||:+='T{|=u::]1r"E B =2 e 72 160 \ f;ﬁ;u
40:G1" EE 5 =5 ifE AR 452 Wl 252 3
S50:NPT1" Proportional Flow Control = i
V38,V42 Preparded for thru drive(SAE A© 82.55)
ﬁi!mﬁﬁﬁﬁ[SAE A ©82.55,F/FFRIFEER:A @I/ D)
V|38 D
[ e
— 232 ....5*3'5'.. O Pressure Adjustment
O it o im0 5 INC.F & Fim0O
R s DEE: ﬂ.ﬂ]\me Adjustment Drain Port:G1/2" EI___ [16.35-2 x40 Filling Port
*a g /—§ @
9 3 *
) TR, — I.| g 8 _ 2 °
A = 1 o io]
(] : / 2 q 5] =
$\__,/ i ! ( 4 ! © ]
| L
e IH'T— _la.i'@ 3} * E -
¢ 82.55'0"° \wl-ﬁ o — y
30.2 145
106 _ 174 5
& Links D:SAE A ©82.55 e 231 i - 198.5 -
V38,V42 Preparded for thru drive(SAE B®101.6)
BRI M (SAE BO101.6, =4S RIEE0A:BEM(LTBA E )
V|38 — LE | O —
- 232 e Pressure Adjustment
Q e ik R i i O 5 INC.7 B 3 O
14T ML 25 DEC 3 D Adlustment | _Drain Port:G1/2° g [16.3578 §x40 Filling Port
‘ = T /T @
A oa| =%
A ‘:5 r = F o S |
Ty
0 o — e o 5 e
=) —
= ~ AC . 5
/ﬂ P! EW H ! ©
#—}4 of e[ L
©101.6°40 o_M12xP1.75 — | BN
.- ™ 30.2 14.5
- LL L — - 174 L
& Links E:SAEB ©101.8 - 231 -
X Type| A| B| C |CG| D |DG| E |EG| F |FG GJ HQ

O O]0 |0

O|®
O

B BT ERBVIESIELT\ Thru Drive Option

60



V Axial Piston Pump

YEOSHE

V38,V42 Axial Port
# (R NERIFEBREES iR B )

V

E —
— 232
DEC.igk /)~ Drain Port:G1/2"
i o

Flow Adjustment

a

() O
-
N
w| B
F
=
e
Inlet ik O
R I
Threads code 66.6
10:PT(RC1-1/4"
40:G1-1/4" 204
SONPTI=1/4" I % e
B 77 i
B:axial port

BB
Threads code
10:PT(RC)1"
40:G1"
BO:MNPT1"

{
[
Outlet ik O 4

\

\

|=

g

()

EnaE

Pressure Adjustment

INC.F B

[16.35°5 hzx40

iEih O

Filling Port

o i
oo
I
=
3
o o
= ol -
=
&

—ﬁi
—
@101.6-8.05

[

J-
14.5
- 209 A
241
-

13.5%) 3

V38,V42 4 connections for axial port

ARl B N0 8 5 il (R RIFEAERE S m{Lisn B2)

()

INC.F+
—_— &
v 3ﬂ m Pressure Adjustment o
i L 232 | 58.5
Cover Plate O 3l O [16.35:5 05 x40 Filling Port
DEC.H/h Drain Port:G1/2" . " .
i3 &k 5| e3 i
= 5 Fluwhdjuslmant\ ‘Fr e E g )
Inlet i O 8 |':':-5:J g Outlet it O l| ° e & ¥ o
R 4 —|— - | — | B AL - w -
Threads code | Threads code - d h | 7
10:PT(RC)1-1/4° 0 © g 10:PT(RC)1* 2 i { £ -
40:G1-1/4" Gl | .
50:NPT1-1/4° = = ;g;ﬁ;ﬁ-- —{] - D
I j
e 204 o) % - ey 1
AREB2: 40 L 4 5 L o - 302 T w148 196
FPipe code B2:4 connections for axial port P 509 - - 198.6
interchangeable for side and rear port) - 241 - - -
B:\Typel A| B| C |CG| D |DG| E |EG| F |[FG| G |GJ|GM| HL|HK|HQ
#5 T E RV EZESIEL T Axial Port Option
V38,V42 Splined Shaft Type V38,V42 Hydraulic Flange
BresnEy EH AN
928 + Outlet Hi il O Inlet il 0
9
i _ isne 32 30.2 32
B | B A
~ P
G - i 2 sl =
=
Outlet il O Inlet ik O
= ! = ! R AR At
23 27 Threads code Threads code
= & 10:PT(RC)1" 10:PT(RC)1-1/4"
23.5 - L 40:BSPP(G)1" 40:BSPP(G)1-1/4"
S50:NPT1" EO:NPT1-1/4"

S:13T DP16/32

S51:15T DP16/32

61



- VBAEESR

V50, V70®51 V50, V70

T

]
13':":"" 2
ot L
e "-{ﬁ',‘./f = L] L] : T?mj
0"'#' S .';,L i
cr"/ [
BS
E 1
& ipcﬂmﬂ-
=
|
? B0
BE
. 3.4 6.9 iD.3 13.7 17.2 20.8
[35) {70 {125} [(140) {175} (210}
Eﬁ ﬁﬁ = [EH MPalkglem)
* BREEER . 1,800r/min
* R 1ISOVG32 =
*H &: 50T = W
V50 —fg P EE r! g V50 B Th | K1
100
S #Fﬂﬁwllelﬁc ency T T a0
- 45
ﬂL:IET'lET"'
80 /-‘ﬁ;;ﬂ'-ﬂ-“-h 40
70— 2 =35
_ 60 “,f - < 30 x |
W ..-_"'
£ 40 ] 1 80 40 # 20 — e s
$ 30 lﬂ&‘f—’i 60 30 IRE - i
o e e
20 < 404 20 10 e e
10 - ad 204 10 5 = E
| s Einpul poll 2 Zo & ==
%034 69 103137172 20600 0 34 69 103137 17.2 20.6
(35) (70) (105)(140)(175)(210) (35) (70} (105)(140)(175)(210)
—» B MPaikgf/icm®) T s —» B 51 MPajkgf/icm®)
E =
= V70 8 2h 45 1%

100 " 50
90 T T 45 £
BOD 40 &

s,
70 140 - 535 = é}/

60 120 w30 VA0S

— E0 100 50 £ 25 =

g#ﬂ A 80 40 ig{] f/#f, "-.'I_f'.

s q IRE f’#;-'-‘ =
30 ﬂfﬂ 6030 3 /*""""#,—4'"'*3. in
20 40 20 E ] =1
10 : d 20410

i poweE i

nlﬁﬂ | E gl gy I "" | 0 00 3.4 6.9 103 13.7 17.2 20.6

0 34 69 10.3 137 17.2 20.6 0 (35) (70) (105) (140)(175) (210)
(35) (70) (105) (140) (175) (210) —» [-h MPa(kgt/em’)

— B h MPa(kgf/icm®) g
4.5 -

4.0 4.0 . :;p&mid
= — PG PC

53-5 E 3-5 F'Ep riu: FG pﬂl’iﬂd

M‘E_n _.-"‘ E‘E-D

= ___...-""'f B

25 iE =2

E s R 2.0 48382 3.4Type ® 2.0
5 _.___,.-""'. < ]

T 1.5 — T 1.3 "ﬂ,—)"'

1.0
1.0 |
0.5 0.5 ___,t-|—-‘='
0
0 0 3.4 69 103 13.7 17.2 20.6
0 34 69 103 13.7 17.2 206
(35) (70) (105) (140)(175) (210) (95) (7 5105) “4{33 Libs ity
—» B MPaikgliem®) —» B 71 MPa(kgf/cm?)

62




V Axial Piston Pump YEOSHE

V50A,V70A Pressure Compensator O
BRAhmERE Pt

306
() game T
Flow Adjustment

. WO
DEC.&/ Drain Port:G 3/4"

INC .34 B Pressure Adjustment

[17.94-F fgx45
) i O
Filling Port

]

®©35.35.4¢

119
18+4 3

233.5

1278 08

= PN
|

Tyl

P

£

i

=

D38 o
| i

10
24 !
4-M12x2 S . ‘ (1115 |
- : [P e
i 300 Outlet 4 # O ©38 208 Inlet i il O ©38

V50B,V70B Multi-stage Flow&Single-stage Pressure
Compensator Control(With Cylinder)

MR, WOEBEE, HETERER SR )

i R
511 57 Prassure Adjustment |NC.7E
e ——fi—
i3 — 0z
. _J-I"-E": 5. 145 -\:‘E.‘EH D
LK. - L
Drain Port:G 3/4" 33-——“: El L Filling Port
I
b [
'E‘ E 3 [Tg]
o
a = i ] B 2
s & EE=
& ] 18
| 1
)
f L1115
181
Outlet Hilh O 238 208 Inlet it il O @38
— -_—
I 261.5
V50C,V70C 2-stage Pressure&Flow Control Type O
MR, MnEREEREIN) INC.7 1
ERHABERLEFCH
MiEEE 144 Low Pressure Adjustment
Low Flow Adjustment a4 BB RS 5EPCH
oK it A 409.4 —tl L }/Hi h Pressure Adjustment
DEC. &/ High Flow Adjustment 80 79 . o SO
Drain Port:G 3/4" [17.94 %5 85x45 ;=if|ing Port
! 2l - :
wl & =
Y I
m| 2 o
% 3 ol ge > 7
E o s Q| ~ w| &
o o0 = o - T
= = |
: - 3E$%E =4
6 RN
1 1

| I ®38 I
/ f
4-M12x2 35.7 _"l_"‘_ ‘ (1115 |
261.5
Qutlet Hil O 038 Inlet #iH O @38

s 256.5 | 181
L 300 i . 208
w 261.5 |

63



VEiEER

V50D,V70D Solenoid Controlled Pressure Compensating Type With Unloading Device
BEEHE, BHREERG

BAEEFEHM
e B iR
O Flow Adjustment Solenoid Control Valves
O DEC. &/ = 306
. Pl A Eilm O
INC 7 FARRRUIE OdjuBtmant _Drain Port:G 3/4" C7.940%xas T Q: Filling Port
] ¥ 2 ®)
t e | il
™— [Ty] u s s
ol B I & o| B
(1] —
i S, ! 3 =
D — R S
@ — o
- &
T 38 m | ! / !
! (115 |
- 24
4-M12x25 9. 181
| 256.5 Outlet il 0 ©38 - 208 - Inlet iil O ©38
- 200 K 2615 _|
V50F,V70F 2 Flow-2 Pressure Control by Solenoid Operated Valve
: Low Pressure Adjustmeant
B WA A M
MRREE Solenoid Control Valves i8R AEREPCH
Low Flow Adjustment igh Pressure Adjustment |NC.F+ &
T3 L L 308 - T
DEC g\ _High Flow Adjustment im0 ol im0
Drain Port:G 3/4" [17.94-3 % x45 Filling Port
—— 2l o ! pme—— 1|
O o =5 = Hei[ell)
~ 8 -~
—| s Ly
o | @ -
= i |8 8 2 &
S @ ® @ S . 1
™ o 1 =
w } - o g
€ T W ¥s . 3
y 238 ! || 1 (r ' L
L [J115
4-m12x25/ || 1| 357 - LLWJ iy
261.5 o 256.5 - i O
e - Qutlet i O © 38 | 208 - ©38
. iy =1 261.5
V50G,V70G Remoted Pressure Compensator Control
BREERBHEREZE @rmm)
fﬂmn -ﬂl'l'llr'!g: G
- R don't adjust ShEEERE DA RERED
Drain Port:G 3/4 -l o] TGRS Remote Pressure Port:PT1/4
e \ 206 - Pressure Adjustment
O i R O Ta | 9 il O
. [17.94 ) BEx45
DEC Flow Adjustment : Filling Port
L '} o%| oo
Ly Ty}
~ @ |
— Y -
o | & ko) o | o
: -1 D -
8 8 e s ® -
r : EE=]
o =
- =
. Saa= % (i
i © 38 | / ‘1 1
— (1115 \
4-M12x25
181
- -
Outlet H ik O msa/ - 208 | Inlet i ik 0 ©38
- n 261.5 -




V Axial Piston Pump

YEOSHE

V50GJ,V70GJ Proportional Pressure with interface
E3LECHIER 72 i3 6

bE 1] =\ O ik R Oy 4= A R

Proportional Solenoid
Pressure Enmpensamro '

DEC .
i 1t A B

Flow Adjustment

306

*a;‘&;l:l

(BRWE) £mmegs

Warning:
don't adjust

Pressure Adjustment

[17.94 -8 82x45

0 31.75-8.028
©35.35-82

74

iEim 0

Filling Port

]

. / I o
g + P
e @ o :.; —
LD ] 0
L | 3 2
[ § o | Y Sa=es 2 (I
_..l_...ﬁ |
261.5 __] 4@/ 257 “F (1115
I 256.5 TN \
- E - Outlet i ©38/ | | 208 _| Inlet il i 0 ©38
261.5
V50GM,V70GM Remote Interface(Not include valve)
E3\E R R (A= ER)
i E
Pressure Adjustment
- e ( ek 5 AN %)
O 73 Warning:don't adjust O
i Filling Port
l:‘;r:nlﬁfjustmant i il O 33, [17.94 -8 FEx45 Rl
DEC.R/h Drain Port:G 3/4" 57 @
. — c; ; ‘Ii
rea gied iy '
~l @ m A0
- o gal 0
2 ™ o o =
/ e a ﬁ —
] i =1
. =
— [ =
N e
1 8 i %%Eﬁg !
f ‘ [ 511"_5| |
24 181
* 4 35.7 - -

261.5 4-Mi2x25 [ I 956.5 Dullet&:IfEEEIEISE/ - 208 = \lnlaliﬁiml:lmﬂa
) ) - 200 L 261.5
V50HL,V70HL Load-sensing Compensator W—

ﬁﬁﬁﬁﬁﬁj Low Pressure Adjustment
4 e [ B EsmEPCh Bl

A

DEC.E& /]

39

Drain Port:G 3/4"

119

261.5

|
i

T 306
i 180.5
Flow Adjustment
Il
w
il )
o o T @
o
I urd m
_/ T
.l' —
D38
1
4-M12x25/ o= 35.7
B, 256.5
i 300

635

High Pressure Adjustment

[]7.94-8 BEx45

!}
o5 o 1_1r
o
=8 @)
1 1
s ]
El'g :';E-
| T
! B2 o
P
o
t &
1

24

Load sensing Port:PT1/4

i O

Filling Port
A

-

| @

|
{© Yot
=

=
i (I

Outlet H il O mza/

\ Inlet iff il 0 ©38
=



V #i[0fEER

V50HK,V70HK Proportional Electro-hydraulic Load sensing Type

REBE+ LR N LEHRERH

%= B IR FCH

Low Pressure Adjustment {Iﬁ:gﬁ )
3 B RS S YPCH ook
grfilf?%r’r:ﬁ 374" \High Pressure Adjustment 90n't adjust
O b 5 =X W i 1B 7 4 o R 454 \
Proportional Solenoid - N 1805 | 57 184
DEC.iE 1 Pressure Compensator =0 Bl R e 2 i A
— 3 (179475 §8x45 7 Filling Port
Flow Adjustment i 33, &
10) 5| oo &
Z 5| 8 Eyir= f
@ Il m B cal o m o W0
o g5 IR Rl Bk
1 o 1 ™
EL C . = e 6 L S 1]0 _H-_I_
i [ & -J1o- o |- B 5 I
E -Xe) ' 5 7 I S
- L — L
1 . 4_]
1115
104 e / e ]
o D‘U“E‘tﬂj FEH:I 300 ].E:ED B-I [
L 314.8 o PR o S | | 321.4 il Drain Port:PT1/4 g 134
10:PT(RC)1-1/4" 801 _ 208 -
40:G1-1/4" e 51 2 i 2 457 1 PR 314.8
50:NPT1-1/4" Proportional Flow Control P -
V50HQ,V70HQ Load-sensing Proportional Flow Control
6 A AR &R FC Y
ﬁﬂﬁﬁﬂﬁ]"'mﬁjmlﬁﬁj Low Pressure Adjustment (e 3% 0 BE)
i 3 [ B EREPCM u;ﬁ‘:'ltrg::rl}ﬁ:sl
Drain Port:G 3/4" High Pressure Adjustment
O o 421 \
DEC.j/) \ 0
S
it 7.94°§ 3x45 it i O
i i ) 33 I (] Filling Port
Flow Adjustment e ""'
it .
o “ = [ .
i @ i /J! n 0
ion m — m ?_':- = I:"'j
EL tr@ b um I 56 g.ﬁ | — h w -
g K = F} o >_ : 1 3—
0 X ° B 18
| 1
b e
Qutlet i O 300 -
A B 4R il - 321.4 .
- Threads code
10:PT(RC)1-1/4"
40:G1-1/4" —= -
S50:NPT1=1/4"

V50,V70 Splined Shaft Type

SEeEMNE

r—

55.5
10

-

S:14T DP12/24

o i =3

22.9

45.5

V50,V70 Hydraulic Flange
EH BEN

Qutlet Hih O

32

BlESE Threads code
10:PT(RC)1-1/4"
40:BS5PP(G)1-1/4"
S50:NPT1-1/4"

66

Inlet #E iR O

35.7

-

) @

D

AL ¥ & Threads code
10:PT{RC)1-1/2"
40:BSPP(G)1-1/2"
50:NPT1-1/2"

1

32

69.9




V Axial Piston Pump

YEOSHE

V50,V70 Preparded for thru drive(SAE A ©82.55, SAE B ©101.6)
B8 (HS M (SAE A ©82.55, SAE B ©101.6, FRiFBIFF8:E#n{ESI D or E)

14T M1.25

14T M1.25

V|50 — D
V|50 — E
i 306 - £
iR AR o :
O Flow Adjustment g'EDP .G 3/4" L
DEC. i/ rain Port:G 3/ 33_-_

o

INC.F+ Pressure Adjustment

[17.94 -0 Jix45
1] 3| =

LI}

~ ™

o

&

©35.35-4;

iEih O

Filling Port

1
@® ; ! / o
e *| | 3] ' ! & o :DE‘LE
dil |, : ! - —1 P !
: # I\“q_,r'/-ﬁ 1) + o] . - - \QE? l|- oy gl
I‘ ' g‘—'ﬁ:é ‘
©82.55 4% | \@101.64%] | 2-M12xP1(75 — ——L—E L1115
L 2_M10xP1,5a—128 o] | ~ 181
- i Links D:318
£S5 Links E:323
{4 Links D:SAE A ©82.55  E:SAEB ©101.6 ~ -

BN Typel A| B| C |CG| D |DG| E |EG| F |FG GJ |GM| HL| HK|HQ

O

O

O

O

() | GD

8 Bl XE (R Ol = A BV S BL T
Thru Drive Option

V50,V70 Axial Port
#®H BRI HEREL RN B )

V|50 B[ |—
O E:-’JHE
Inlet HEH O Outlet Him O 206 5 ressure Adjustment
AR 4Lt At & 4R A3 e M - el INC.HE
Threads code Threads code Flow Adjustment | % 3 0 73 17.94-5 %2 x45 s
10:PT(RC)1-1/2" 10:PT(RC)1-1/4" Drain Port:G 3/4" 33 n Filling Port
40:G1-1/2" 40:G1-1/4" '_1': s| o
50:NPT1-1/2° 50:NPT1-1/4" 5 (-
ST T DEC.E& /) t E I :
_[ / Py fE‘G i L
' : - o o o
EL (&] @\ L 8 3 ] = "1
| ‘1 @ | I e
o/ Ja N Al !
9] R U ‘Gﬁ g’ . S
r 1 1
24 .
= 157 2] | axialport 295.5 » 181
B 300 - s 261.5 "
R B8 7 4l = 357 -
Pipe code B:axial port
|
BXTypel A| B| C|D | F GJ|GM| HL| HK| HQ

O

O

O

Olo

& HHoLERZEHIETN
Axial Port Option

67




V #i [0 fEER

=

EEE SR M (O SR E B R A E 18 A ¥R R #) Tandem Pump(Multi-option for tandem pump)

' Pump 1 | V15(V18)
 Pump2 | V15(V18)

A

N< X S<CH®WDOOOZZErRe-—ITOMMOO D

DEC i1
it 8 5

Flow Adjustment

i® i ODrain Port A

G 3/8" G 3/8"
G 3/8" G 3/8"
57.45 57.45
35.1 35.1
35.1 35.1
39.1 52.4
35.1 26.2
M8x20 | M8x20 |
M8x20 = M10x16 |
147 147
147 170
332 369
382 419
48 48
48 | 51
1 E { g |
| 4.76x32 | 6.35x40 |
13 14 |
©19.05 | ©22.22 |
21.156 | 25.08 |
®82.55 @101.6 |
®25 | ©25
®25 ®25
106 146
131 146
165 182
44 39
812 | 317
5 | 5
84 110
11 13.5
44.5 a0
160 193
91.5 93
60 68
Pump 2

M

—n

68

V23(V25)| V23(V25)| V38(V42)| V38(V42) V38(V42)| V50(V70) V50(V70) V50(V70)
V15(V18)| V23(V25) V15(V18) V23(V25) V38(V42) V15(V18) V23(V25) V38(V42)

G 3/8" G 3/8" G 3/8" G1/2" G 3/8" G 3/8" G1/2"
G 3/8" Q12" & G1/2" G 3/4" G 3/4" G 3/4"
61 57.45 61 73 57.45 61 73
52.4 35.1 52.4 58.7 35.1 52.4 08.7
26.2 35.1 26.2 30.2 35.1 26.2 30.2
52.4 58.7 58.7 587 69.9 69.9 69.9
262 | 302 | 302 | 302 | 357 | 357 | 357
M10x16 | M8x20 | M10x16  M10x16 | M8x20 M10x16 M10x16
M10x16 | M10x16 = M10x16 = M10x16 M12x25 M12x25 M12x25
170 147 170 179 147 170 179
170 179 179 179 256.5 256.5 256.5
402 378 401 410 464 493 202
455 428 454 465 515 546 555
B 48 51 51 48 51 51
a1 51 a1 o1l 73 73 73
o | 9 | 9 | o | 10 | 10 | 10
6.35x40 | 6.35x40 | 6.35x40 | 6.35x40 | 7.94x45 7.94x45 | 7.94x45
14 | 145 | 145 | 145 | 24 | 24 | 24
©22.22 | ®22.22 | ©2222 | ©2222 ®31.75 ©31.75 | ©31.75
25.08 | 25.08 | 25.08 | 25.08 | 35.35 3545 35.35
®101.6 | @®101.6 | @101.6 | @101.6 | @127 D127 D127
D® 25 ® 31 @ 31 ® 31 © 38 ® 38 © 38
D©25 ® 31 @ 31 ® 31 @ 38 @ 38 © 38
146 146 146 146 181 181 181
146 160 160 160 208 208 208
182 198.6 198.6 198.6 261.5 261.5 261.5
39 39 39 39 74 74 74
31.2 31.2 31.2 31.2 40 40 40
2 2 2 2 8 8 8
110 121 121 121 1198 119 119
13.5 13.5 13.5 13.5 18 18 18
58.5 58.5 8.5 58.5 af al al
193 210 210 210 233.5 233.5 233.5
93 113.5 1135 113.5 133.5 133.5 133.5
68 72 72 72 100 100 100

Pump 2 5;;%@
i# i@ ODrain Port B - i, A6 . A i g
L : A3 - Presjm;leﬁ.d]ustment
.:.:| Elllin[; Port
e o | |
L | . !
. WE | ol - < . <
(o @ / < 2
i | P ul@ H——> _@_ S
9 | @ : | )
[ I-—.:-I L A 4 !
Wi | K i | Qutlet V Inlet W
L -




V Axial Piston Pump

YEOSHE

VREIOZHEEER
VR Series Axial Piston Pumps

= E:175bar
RR:280bar

RISEER A Nomenclature

VR

1TVREHER, DIBRKHREIREBERICBEIRE, MEZEBEIESEEAM.
RHREET, £E2BNBEA, REFEESEEE.

2 B2 EEHOIES
NEESFERS,

e Y

3InFE@\E/N, BIEBR LA, TEREB/\EHTE,
4EREBACIRME., K, RE. BEMREHES.

1.Combining special internal designs and strict engineering disciplines has
reduced noise level to new lows in whole pressure zones.
2.Depending on variety of application needs multiple optional unique control
methods are available.|t does not only reduce a number of unnecessary
horses,pipes and control valves but also increase efficiency and save

horsepower,and cost.

REEZRARR, BREER. Bk, BlF

J.Less capacity reservoirs can be selected and applied because of
performances of low pressure loss and less heat generation.

4 Wide application ranges:itis very suitable for machine tools,plastic injection

molding machines,forging machines,otherindustrial machines and so on.

A

1

R

S

1001

| | | | |
; R % KRk B E
s | Ratings thplerer D orentoioe Shaft type voltige BHFH  WNSH WRNEEE WRDX FARREN
displacament type - EMEE  connections Thregds code Thru drive& Desighnumber Links type Customers
Axial port Pipe type Control type Shaft rotation | | SNIE T tamang
{Mare detailed
information please 0 B .
refer our calalogue CHL L E & X #mlg-, Standard
e e I KT R MO Low Prosaie
G.GJ.GMHLL T HIHKHO L | counter clock wise | Z [ =WAER lding Relief
{ A TFLE SAE A 2 bolt
:frh':ﬁf:;‘zﬁ'as'u ﬁ:ﬁ:‘ ?Efﬂﬁ == ##V15, V18 For V15, V18
|
Erdd _
3 axial port 62 4 pe W
MNone:Single pump
i W C | SAE AA,DS0_.Bmm
Code | Spring A_| AC100V(50/60Hz)] D _| SAE A ®82.55mm
Maone Standard pressure:7kg Nona | Cylindric,key C | AC200V(50/60Hz) F | SAE C.®127mm
2 HE14KG o prasy E:ﬁ.E FrE” D | AC220V(60Hz) I Matric, DEImm
Middle pressure:14kg { ' 3 E | DC12V J | Metric, PE0mm
E21KG K | Metric, 5 100mm
c High pressure:21kg BW | & @M Number| %2 Pitch bl bhaty L | Metric & 125mm
L Code | Type | of Teath
?n’.ﬂ%f fﬂa is useful for HL type $ Vi8] i 163=UF
pring ¥P S1 via |9 10 [PT(RC) W 7 BMPipe type
| 52 11 40 |BSPP(G) ZxElMetric
1:0.8~6.9Mpa(B~7T0kgf/cm) 5 v23 [13 16/32 DP 50 |NPT #FEHinch
2:1.5-13.7Mpa(15-140kgliem’) 51 xgg 15 60 |SAE(O-Ring)| & Slinch
3.2 0-20.6Mpa(20-210kgliem’) 53 13m8& 70 |ML] & $Metric
X Va2 | | engthening|
4:2.0-24 5Mpa(20-~ Eﬁﬂkgf-fcm'!l
IR#B I Specifications
LEEREAR it & FATERZHHE JBE oh oA B i B (rpm) 1§ |
8  Model Max.Pressure Displacement Unloading Conditions I'min{GPM) Pressure Adj.Range Input Speed Range Wmﬁjht
kgficm®(psi) celreviin’/rev) 1500rpm 1800rpm kgt/em*(psi) B {Emin | B Emax kg(lb)
V15A 250(3500) 15(0.90) 22.5(5.78) 27.0(7.05) 13(28.6)
V1BA 250(3500) 17.8(1.09) 26.7(7.05) 32.0(8.45) 13(28.6)
V23A 250(3500) 23.0(1.40) 35.4(9.11) 41.4(10.94) 22(48.4)
V254 210(3000) 25.0(1.52) 37.5(9.66) 45.0(11.60) 22(48.4)
V3BA 250(3500] 37.6(2.31) 56.7(14.08) 68.0(17.96) 1:8~70(115~100) 06(57.2)
Va2A 210(3000) 42.0(2.56) 63.0(16.23) 76.0(19.58) 2:15~140(210~2000) 500 1800 26(57.2)
V15A-V15A 250(3500) 15/15 22.5/22.5 27/27 finil c10ISRUSSHIN) 28.5(62.7)
V23A—V23A 250(3500] 23.0/23.0 35.4/35.4 41.4/41 .4 4:20~250({280~3500) 46.5(102.3)
V15A-V38A 250(3500) |  15/37.8 | 22.5/34.5 27/68 | 41.5(91.3) |
V3IBA-V3IBA 250(3500) 37.8/37.8 56.7/56.7 68/68 54.5(119.9)

69




	33.jpg
	34.jpg
	35.jpg
	36.jpg
	37.jpg
	38.jpg
	39.jpg
	40.jpg
	41.jpg
	42.jpg
	43.jpg
	44.jpg
	45.jpg
	46.jpg
	47.jpg
	48.jpg
	49.jpg
	50.jpg
	51.jpg
	52.jpg
	53.jpg
	54.jpg
	55.jpg
	56.jpg
	57.jpg
	58.jpg
	59.jpg
	60.jpg
	61.jpg
	62.jpg
	63.jpg
	64.jpg
	65.jpg
	66.jpg
	67.jpg
	68.jpg
	69.jpg

